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1. 771 Sentence- wfif$e SZH 07 |

3. Tag Question-a¥ Subject w41 I Sentence-

2. 74 Sentence-A99 ¢itgs Comma (,) 367 |

4, Tag Question st Auxiliary Verb W?E%T

—_—

@ Subject-93 Pronoun ¥ |
5. Auxiliary Verb-aa Contracted <1 7w A

6. Sentence-4 Auxiliary Verb 5 1= do,

EX does, did ¥ |
7. Affirmative Sentence-a3 Negative TagZ@ 1 | 8. Negative Sentence-A% Affirmative Tag EL
1. ‘Heis your best friend, isn’t he?” is a/an - [SPRIT S AT T w0
a) interrogative sentence b) negative sentence
Ans:d

d) tag question

¢) exclamatory sentence
The Short Form of the Negative Tag

Simple Form | Tag Form | Simple Form | Tag Form Simple Form | Tag Form
is not isn't will not won't cannot can't
am not aren't /ain’t | would not | wouldn't could not couldn't
are not aren't Oughtn’t/ used to didn't/

L . Shouldn’t usedn't
was not wasn't must not "mustn't | Did not didn't
were not weren't shall not shan't [ Had not hadn't
has not hasn't may i ma_\'n—'i | does not doesn't
have not haven't do not ' don't D

m fe affirmative 20T tag question & negative 2@ | @27 @ auxiliary verb 4R G712
auxiliary verb 6% Tag question 93 verb 2@ | @@1fe@ auxiliary verb 2@t eemfs five 2 |

2. For the boys the task was easy, ---?

[DU (B) 09-10, 771 25agiomn sfawaraa s 7Za-35]

a) weren’t they  b) didn’t they ¢) wasn’t it d) isn’t it Ans:c
3. He can go to the university by bus, —? [framafba's b Afar-34]
a) won’t he b) must he c) can’t he d) will he Ans:c
4.  They have tried but failed, ------ ? [DU (B) 13-14]
a) haven’tthey  b) aren’t they ¢) don’t they  d) didn’t they Ans:a

5. This balm (3) has lessened your pain -, [9% I57 (SR =T S, ©IE 417)

Add an appropriate tag

¢) won’t she
r salary, ---?
¢) doesn’t he

question from the following.
¢) Don’t it?

d) Won’t it?

e) Hasn’t it

[CU (G) 12-13]
Ans:e

[DU (B) 10-11, PUST (A) 14-15]

d) couldn’t she?

d) does he

Ans:d

[KU (BBA) 15-16]

Ans:a

a) Doesn’t it? b) Will it?
6.  She could have been more discreet, —
a) didn’t she? b) can’t she
7. He has to work hard to get highe
a) hasn’t he b) has he i
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Wther carton of milk, ---? [Km

) haVen’.t we b) do we ¢)don’twe ) have we Ans:a

He is trying to give up smoking,-—- (DU (A) 06-07, KUET 07:08,COU (%) 12-13]

.) isn't he? b) is he? ¢) won’t he? d) will hc'} Ans:a

~ We will go home soon, —  [wisat My 21fE ma, w13 7] [RU (A2) 17-18]

@) will we? b) wouldn’t we &) won'twe  d)isn’tit Ans:C
Mmﬂﬁ negative T tag question ¥ affirmative 224 |

1. She won’t dance in the party,--. (DU 03-04, ffisi st Frstsferszan 7513 w1

a) will she? b) will not she? &) would she? d) wouldn’t she? Ans:a

no 1 don’t like talking in the class, --? (BU (%) 13-14]

a)dol b) are | ¢) nor | d) 1like Ans:a

3. We didn’t play very well today,-- [T Sier 47 Sl cafafa, e co17] [DU 07-08]

a) did we? b) could we?  ¢) should we? d) must we? Ans:a

4. He couldn’t have forgotten the address, - 7 [NU 10-11]

a) did he b) had he ¢) not he d) could he Ans:d

< % auxiliary verb 1 21w, ST principal verb (be verb =% o7 STZ0A tag question
zzze do/does/did @ FT not I TS AT | wde don’t/doens’t/didn’t + subject pronoun? T |

15. The tag for the blank in ‘You forgot my birthday, -2 [fi S e o P, w12 1?]
[DU (B) 02-03, JnU (B) 09-10, RU (A3, even roll) 12-13, BU (C) 15-16, HSTU (B) 15-16]

a) haven’t you b) didn’tyou ¢) hadn’t you d) wouldn’t you Ans:b

16. Banks close at 4 p.m., - [DU (A) 07-08, COU (C) 15-16, ferst g1 Smead fETEe-23]

a) do they? b) must they?  ¢€) don’t they? d) isn’t they? Ans:c
17. Everything looked beautiful, — [FE 77 wifozeT, ©12 w12 [RU (E2) 17-18]
a) didn’t they?  b) wasn’tit?  ¢) didn’tit? d) did it? Ans:c
18. She knows you, ----- 9 [T CITTE (BT, ©1g 1?7] [NU (¥#%%) 11-12]
a) hasn’t she b) haven’t she ¢)don’tyou d) doesn’t she Ans:d
19. You broke the machine, --—==- [DU (B) 09-10]
a) haven’t you? b) hadn’t you? ¢) did you? d) didn’t you? Ans:d
20. He always lags behind, -- [ 7T foifera A, ©12 71?7) [DU (B) 3-04, RU (E) 18-19]
a) won’t he? b) can’t he? ¢) didn’the?  d) doesn’t he? Ans:d
21. The girl broke the cup, ==~ [DU (A) 06-07]
a) did she? b) didn’t she? ¢) hadn’t she? d) hasn’t she? Ans:b
22. She often visits her home toWn,= [ g o e =R A, SR ?) [DU (B) 05-06]
a) hasn’t she? p) doesn’t she? ¢) didn’t she? d) isn’t she? Ans:b

Sub+need/needs/needed 4T 42 question « don’t/ doesn’t/didn’t T, TR needn’t

2%+ | don’t/doesn’t/didn’t need 4 do/does/did &J | wyi@ needn’t UFET need A |

23, Toeed some books, — 9 (A B ATl MR fefsfe wiiesr-d¢, CGA 9 g e witsa-23)
¢) need | d) needn’t Angen

a) don’t | h) do | . .
[ @a%q am 4144 tag question «4 @ aren’t/ain’t T i | (ain’t | TN (ONF IJIZS ZF )
. Find the appropriate question tags ‘T am 1ate — [CUD) 1314, 17-18, RU (E1) 17-18]

I’m just hopeless at telling jokes, — » [CU (A) 05-06
a) am 1? p) amn’t 17 ¢) aren’t 17 d) it it? AIIS'(]:
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—_? Choose the correct tag- [nU (D) 10-113

25. 1Iam going to fall in love,
53 am not! i)j ain’t 1 ,&:) aren’t | d) Both b& ¢ - Ans:d
26. The right expression for “Am 1 not?” is — 5 it [tz Afarers A(\)-os]
Ej aren’t 1?7 i)) Isn’t I? ¢) amn’t 17 d) amn | ns:a
27 Iam a teacher of English, —? Which tag is appropriate? [ sl s frrs.oy)
I am a student of a residential university, —7 vu (‘T):g-lg]

ns:

a)am1? b) am I not ? ¢) amn’t 1? d) aren’t 17

28.  Which of the following has incorrect tag? A
a) 1 am your friend, amn’t 1? b) He used to play football, didn’t he?

¢) Man cannot swim, can he? d) Have a cup of tea, won’t you? ' . Ans:a
W Hardly, scarcely, seldom, rarely, rare, fittle, few, never, nothing, neither, no one,
none, nobody 7ift AT tag question 5 affirmative 29 |
29. Lily hardly helps her mother with the housewor

[JnU (D) 11-12]

k nowadays, - ? [ICB «= G sfems-ss]

a) is it b) does she ¢) doesn’t she d) isn’t she Ans:b
30. "He never goes out with his dog, -----2" o [JnU (B) 12-13]
a) does he b) doesn’t he ¢) does ever he d) does never he Ans:a
31. "It’s hardly rained at all this summer, ---— m 3 [RU (H) 14-15]
a) has it b) is it c) isn't it d) hasn't it Ans:a

used to ICHT auxiliary verb G 37 T tag question @ didn't/usedn't 37 |
ought to T auxiliary verb 2o T37© A tag question @ oughtn't/ shouldn't IC7 |
32. He used to visit you regularly,- Identify the correct tag question.  [NU (=) 10-11]

a) wasn'the?  b) wouldn’t he?¢) didn’the?  d) won’t he? Ans:c
33. I ought to complain, -—- [RU (ot fer) 09-10, ey Tt Ifere w1y ]
a) oughtn’t I? b) don’t I? ¢) shouldn’t1? d) won’t I? Ans:a
W‘? Imperative Sentence 97 tag question @ will you 3% | |
34. Pass the salt, —? [ArEr1E R B I (FARSIRER)-38, CU (D) 12-13, 14-15, 15-16]
Love the poor, —? | [ ST WikweEs AffBrea-d)]
a) do you b) will you ¢) are you d) did you Ans:b

Imperative Sentence & negative 2 tag question @ will you I67
Thank you = I thank you @f6 Imperative 74, Assertive sentence ©1R @ tag question T don’t I?

35. Which one is correct? [DU (IER) 99-00]
a) Don’t forget, are you? b) Don’t forget, will you?
¢) Don’t forget, do you? d) Don’t forget, should you? Ans:b

Imperative Sentence f Let's/Let us 9l &% T @42 suggestion (S81F) @RI tag
question 4 shall we 407 | Let’s go home, shall we? |

36. IWhich of the following has a correct tag? [JnU (B) 10-1 11’
:)) ][) Zr:’tla;e, shan’t 17 b) There are some upstairs, are there?
o orget, could you? d) Let’s have a party, shall we? Ans:d
. Let us have some tea —? [W’“q.ﬁsﬁmm . STl ST .]
\ NI . =3b

Let us go to a picnic/the market, ----?
Let’s go home, — ?
Let us go out for a walk, --?

[CU (E) 09-10, (B1) 12-13, BSMRSTU E 19-20]
[CVASU 14-15, PUST (A1) 15-16, CU (D) 12-13, (D3) 16-17]

B il A | [1U (B) 10-11, JU (D1) 13-14, wmer ez st (50)-20]
2) we b) shall we €) won’t we d) shan’t we ) msrb
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38. Let’s have a cup of tea, — Add a tag question to this sentence. [Sam =t S ww1-53]

Let’s have a party, — whjcp, tag is suitable for use? [t sfies et fre-o3]
a) have wep b) haven’t we? ©) shall we? d) shan’t we? Ans:c
UL Imperative Sentence f3 Let me/him/her/them wrat o oo tag question 4 will you 37 |
39. T‘he.qucstion tag for the sentence “[Lof him take the exam, --? is [CU (E) 08-09]
Fill in the blank witl tag-question: Let him do the work,---? [TU (B) 10-11]

a) shouldn't we b) won’t we ¢) will he d) won’t you e) will you Ans:e
None, No one, Nobody, Neither et wt Sentence @ @1, tag question @@ subject
RT they TR @ verh Positive 27 | No one phoned while 1 was out, did they? f#8 ama
it of +noun/pronoun <o of @3 *tzm (pro)noun SFPIEA tag question @7 subject %4 |
40.  Nobody here likes that kind of music, —? (@41t @S @ sz TS oww @ ) [CU C3 16-17]

a) don’t they b) does it ¢) doesn’tit @) do they &) wouldn’t they Ans:d
41. )Vh::at is the correct question tag? ‘Nobody phoned you, —’ [CU (E) 08-09, RU (E) 17-18]
a) did anybody?  b) didn’t they? ¢) did they?  d) didn’t anybody? Ans:c
42. None of us can solve this problem, —? ' [KU (BBA) 13-14]
a) can’t we b) do we ¢)don’tyou  d) can we Ans:d

IRule-12: Everyone, anyone, someone, everybody, somebody, anybody, The +adjective Zeiiw
@R Sentence 3 (T, tag question «7 subject B they 977 |
43. Everybody likes a flower, —? (eiters =1 e, vz 2 [EEeT e afeere wiwdi-sy]

Everybody loves music/a flower, —? [COU (B) 08-09, RU (G) 14-15]
Everybody hates a liar, —? (2 e TEEEE TR e (Fifee)-3a]
a) does he b) doesn’t he ¢) can he d) don’t they Ans:d
44. Everyone should respect the teachers, shouldn’t —?  [smt sgRaE®-30, NSTU (C) 15-16]
,5) I b) they ¢) he d) you Ans:b
45. Everybody was present there, — What will be the correct tag question? [NU (R=r)12-13]
a) wasn’t it? b)' didn’t they? ¢) weren’t they?d) wasn’t he? Ans:c

NI EH 9197 There =R & 20T S0l 71 3% 5% 460 @< tag question @ subject & there =3 |
46. There has not been a great response to the sale, /a great demand for the course, o
[PUST (A) 09-10, CU (E) 07-08, (H2) 12-13, (D3) 16-17, BU (B) 11-12, RU (D, Even) 13-14]
a) doesn’t there b) hasn’t there ¢) hasn’t it d) has there ) has not there Ans:d
47. There are a few departments at Chittagong Uni\{ersity, —? ! [CU (E) 05-06)
a) as n’t it b) isn’t there  ¢) aren’t there d) haven’t there ) don’t there Ans:c
NS ER Complex sentence @ Clause marker (that, if, unless 2%7iW) ¥4 main clause 9z
subject @ verb =A@ Tag question 2 | feg clause marker 7 AFTT subordinate clause

Tag question 7 | e.g. Unless he comes, [ won’t go, will I? 1 think you love me, don’t you?
48. All’s well that ends well, —? [Tt AT 8 @ NN W -y

a)doesn’t it b) does it €) isn’t it d) ” it . Ans:c
49. Choose the correct tag question of : Kar'nal talks as if he knows everything.

a) Kamal talks as if he knows everythi‘ng, I.S not Kamal? [Arestior=: efStaifirer wfip

b) Kamal talks as if he knows evcrylh'mg, 1S “0t’h‘;?1? (s sewrd)-sn]

¢) Kamal talks as if he knows evel'y”'"'"ga docs’nz lt ‘;“

d) Kamal talks as if he knows everything, don’t het ;A:;I;S:C
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i , the bus goes at ten past,—?
50. Let me see g t, a0 A0t W0 At

a) doesn’t it b) shall we ¢) will you
51. Choose the correct tag question for the sentence.

«It has been a long time since you’ve seen him, --- 7" : T h[CU (1) 16-17]
a) hasn't it b) isn’t it ¢) haven’t they d) hasn’t he e) hasn’thim  Ans:a

52.  Which of the following constructions is not correct? : E?CU (D) 07-08]
a) He is your brother, isn’t he? b) Are you the new secretary, aren't you

¢) Open the window, would you? d) This is not a party, 18 it? Ans:b

b) wTe Auxiliary verb i #fs® Interrogative sentence a7 ?F’N.'llli tag (]l'JCStiOH zq Al |
d) This. That ¥ FFTaCEE Subject 20 SR Tag question 499 Subject 2 it |

WH Question & Embedded Question

nbedded question (T Tcar &) AP, WH *t#a #Ita subject
a1, s14wI% assertive sentence 4 Za

tence (sub+verbtext.) a7 |

WHword'iTﬁT (T I €1
4 verb 07 | 1w Sub-ordinate clause IR interrogative 2
wice | 512 WH word @5 Wiidt e WH word A Al assertive sen
T Auxiliary verb +Subject +Principal verb+ extension (I 41=)
3. (7 @ 2 - Where is he?

8. fofir vtq wwas 2- When will he come?

Wh-question : WH word
3. (7 &7 - Who is he?

©. (7 Gt 97 ¥ - Where does he live?
| . coTaE == fF2- What is your name? . ¢ f& 512 What does he want?
o ©f 1T T2 -Where are you going? v. &7 (&1 @51 $9e1? - Why did he do it?
'». O @ «B1 Fw@wr-Why have you done this? >o. aifef @=2-Who does the house belong to?
Embedded Question : Principal clause + WH word + Subject + verb-+extension (3 <1CS)
s. O @ o (7 @2/ & & f%2- Do you know who he is ? (who is he %)
& ©fF & &= &7 @E?- Do you know where he is ? (where is he )

P o, W1 &1 (7 (1T 27&/ (R 39 ¥4 | - | know where he lives. (where does he live ¥)

' 8. fiofer wra wifiEe w1 f#2- Do you know when he will come? (will he come )

‘ ¢. cor@ =1 f& 2@ | - Tell me what your name is. (what is your name )

&. = & o7 e @2 - Can you tell me what he wants? (what does he want =)
A WWU:ET @2 7%z | - Tell me where you are going. (where are you going =)
. T @I A1 (71 (& @51 %49 | - Nobody knows why he did it. (why did he do it =)

®, STACE @9 Of (@ @51 7w |- Tell me why you have done this. (why have you done this ¥¥)
so. B f& @1t 21fes1 #7112 - Do you know who the house belongs to? (who does the house )
Embedded Question 97 gy so7 fonfb | aCF@ &9 (@qemia Auxiliary verb UteiR I
o e=rAGE 57 (7) ayazia 4l A0E | T AF CHGE 0PI 40 Feps (,) A |

SMM-_]: Auxiliary verb + subject + verb + WH word + sub + verb + extension 2 |
e.g. Did you ask the man what his name was? 9fi f& cirafGees i wiw fa et srafger?

Do you know where he lives? $fil & @it o7 sianr area/cieng by sca?
Structure-2: Subject + verb + WH word + sub + verb + extension + ()
e.g. I don’t understand what the person is talking about, a1 fs e Gm?r.ﬁrigi QTS ARR

Structure-3: Verb + —-ceeev + WH word + sub + verb + extension + (.)
e.g. Tell me why you went there, SISItE «@1 $fit i<t ooy Foicafece |
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1. Which of the following sentences is correct? (16" BCS, 27" BCS, 7 7 g +fim-ov,

RU 09-10, DU (C) 13-

a) Why you l(1a)vlezd13’ Wmﬁ“ (FTSTI)-30, IU (D) 17-18, ot serfires sl firmes-35]
one this? b) Why did you have done this?

¢) Why have you done thig? ‘

d) Why you had done this? Ans:c
. Choose th ‘ '3 '
. vrﬁw-fa-soi s: ﬁczov,f::e(fw;mmsgmence' [ & @it o catar ares?] (DU (D) 01-02, BRUR (BBA) 08-09, 1
a) Do Y(;u know wher: e o e e gl bl T A
Where does he live? ;b_) Do you know where he lives?

€) Do you know where does he li ,
ives? d)D . i
3. Choose the correct interrogative: d) Do you know does he lives where? Ans:b

a) Where you come from? Bl Whete you came fr[zt::rl’;w’m wfiweraa i 7zaa-d5)
¢) Where do you come from? d) Where from you come? T

4. He asked me -
a) when I go there
c) when I were there

[Tedt <ot @ @ret et wiesa-3a]
b) when did I go there

d) when I have gone there Ans: J

5. Choose the correct sentence, [sveT ereres frama-3a) |

a) I know what does he want? b) I know what does he wants?
¢) I know what does he want. d) I know what he wants. Ans:d
6. Choose the correct se.ntence. [PRAE TEITER et wasr-3n]
a) He asked me why did I go there.b) He asked me why have you gone there.
¢) He asked me why I had done it. d) He asked me why I had do it. Ans:c
7. Why — done this? (2fif @51 &7 #R?)  [sfoveer o cobt af worBese, TR S T3]
a) you have b) did you have ¢) have you d) you had Ans:c
8. Write down the correct sentence: [Trg e sfimen (aFSsa)-3v)
a) Tell me why have you come here? a) why you have --- ,
b) What time did you go to bed last night? ¢) Why are you --2 ;
¢) Why you are angry with me? d) When did you pass :
d) When you passed your Diploma Examination? Ans:b !
9. Select the correct sentence. [(F1F ST T ZCafRe?] [9%5 e «ofb At remem w3y *
a) Where have you born? b) Where were you born? [JnU (B) 15-16]
¢) Where had you born? d) Where are you born? Ans:b
10. We don’t know how did the thief made an escape. [3571e1¢ T1es for. (TAO)-5v]
a) how the thief did make b) how the thief does make
¢) how the thief made d) how was the thief made Ans:c

I1. Twish you would tell me —. (gf¥f 3 SIS 3570 =M= MBT® @ AE)  [F wiw (MTO)-3v]
a) who is being lived next door  b) who does live next door

¢) who lives next door d) who was living next door Ans:c
[2. Can you tell me why did yvou not speak the truth? [F1=T aneE (TAO)-3v]

a) why did you not speak b) that why did you not speak

¢) why you did not speak d) why you not speak Ans:c
13, Would you please tell us — [©r, G ¢ S5eryfE THeAT AL arE-34]

a) when the next bus comes b) when comes the next bus

€) when does the next bus come  d) when the next bus does come Ans:a
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24,
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14,

Wh word + did/do/does + subje
Wh word + have/has/had + subject

—_—
MASTER

a) why did he leave d) why did he left

c) why have he lefl [BAI’[:X 17, Aot Gy qﬁ(ﬁ%

o vesterday?

~ angry with me y

\; hy :, l’) was you ¢) you were d) have you been
/) were yo

reeees? (/SN ST C7) [APTIBr Comicaer/comsae
DA g g b) whoam [? ©) who | was? d) who | shall
:\) W &:{II:;::“ e, (IS 1 RS T Ol A o) [RU (B) 12-13, BRUR (A) 131 I
'"a).‘:“hut is his name b) what na his name otz ¢ mphw
&) what his name is d) what his name was Anca
What you (to do) last night? [sreqita f& srafere)] [6% erem frmteye, 1y @) 14.15;
a) What did you do last night? b) What you did last night?
¢) What had you done last night? d) What have you done last night? Ans:a
Seleet the correct sentence. [ﬁﬁ?mﬁﬁrmmﬁf‘?ﬂﬁ?ﬁﬂ MWW_)LJ
a) Do you know who are you talking to? ;‘j, G g Hag o b) €& whom A=
b) Do you know whom you are talking to" Sl e
¢) Do you know you are talkmg to. who‘7

d) Do you know are you talking to whom? s Ansh
Nobody knows why ---- postponed unt_ll next week [?m. m%wﬁm ﬁﬁww&wz)-\;]
a) the meeting . Bywast the meetmg icA{RU(B Law) IS‘lﬁ (C) 16-17]

¢) did the meeting At B
Nobody knows why — postponed until
[CF° =T 1 o o rerg. szf@ ﬁn%o iﬁv
a) is the meeting
¢) did the meeting

the meetmg was

e Ans:d
When ---- to her? [‘WWWW
a) you talked b) talked you )

Where -2 (e ¢o ﬁmwmﬁm
a) were you born oyl
¢) have you been born
Choose the correct sentence.
a) Why you bought the old car 9
¢) Why you did buy the old ear
Can you tell me where--2 Whi
(14" BCS, L e
a) Does Mr, Alj |1ve i
O Mr. Ali lives
Wluch of the following sentw
a) Where did he went?
¢) What are they domg?
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,r’a,’;(;s'e—the correct sentence,

L e
0 R ] WWW’OO]

. a) What you passed your BA examination?

b) Please.tell me why have you come to me.

c) What time did you go to bed [ast evening?

d) Why you are angry with your brother? Ans:C
28. mCﬂhoose the correct sentence, [aitr FA?] [NU (Rem) 13-14, DU (D) 14-15, (A) 16-17 (C) 19-20]

a) Who belongs to the book? b) Whom does the book belong?

¢) To who tl.1e book belongs? d) Who does the book belong to? Ans:d
29. YVMCh one is the sentence? (G % wthr=y) [RU C 19-20]

?) What h.ap pened there? b) What was happened there?

¢) What did l'lappen there? d) Did anything happened there? Ans:a
30, What surpr ised me the most was how — and reacted exactly like you, said the

banker to me. i [DU (A) 18-19]

g)didhelook b) does he look g) he looked ) could he look Ans:c
31. Do you know when —? (fit s weet </ wif effost <t zwaeet?) [DU (B) 17-18]

a) DU was founded b) was DU founded

Ei had DU been founded d) DU founded Ans:a
32. Please let me know why — the class. (911t 3z Fie1 e &) [DU (A) 17-18]

a) you didn’t attend b) didn’t you attend

g) you didn’t attend to d) you didn’t go Ans:a
33. Ioften wonder how —— . (Sf am? Sif ofif e o¥ie=l) (DU (A) 15-16, BRUR (D) 17-18]

E) you are get on b) are you get on

¢) you are getting on d) are you getting on Ans:c
34, Choose the correct sentence: (1fTo1 2147?) [DU (B-EE) 15-16]

a) Whose does the house belong to? b) To whom does the house belong to?

¢) Who does the house belong to? d) Who belongs to the house? Ans:c
35. Which one of the following sentences is correct? (¥ f& @it fest F1=2) [DU (D) 15-16]

gj Do you know who the house belongs to? a) (¢ whom CS8

b) Do you know whom does the house belong to? o1 593 @3k formal

Ej Do you know to whom the house belongs to?

gj Do you know who the house belong to? Ans:a
36. Idon’t remember ——— . (S O T FF FS AR A1) [DU (A) 15-16]

a) what is her name b) her name is what

¢) what her name is d) is what her name Ans:c
37. When — here? (9fff 937 G (U=e/gfil F @ @w=1?) [DU (A) 14-15]

a) have you get  b) did you get €) you get d) had you get Ans:b
38. Why — return the money? (¥ B1%T & wef ) [DU (A) 14-15]

8 youdid not  b) you ¢) did younot d) you didn't Ans:c
39. 1do not know ——. [wfar s 1 &1 T AF) [DU (A) 11-12, JnU (B) 11-12]

;l) where does he live b) where is he live

€) where he does live d) where he lives Ans:d
MASTER 647
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40. When — Penicillin? (GFRR 94 cBITERT SR FARwE?) [DU (A) 1475

5) did Fleming invent b) Fleming invented efte] &1 I discover gy
¢) Fleming invents d) has Fleming invented Ans:a
41. Choose the correct sentence. [3eCS i far FGrr Pioerit w3 ZH7] [DU (D) 06-07)

a) Can they tell you what time does the movie start?
b) Can they say you what time the movie starts?
¢) Can they tell you when time the movie starts?

a) Can they tell you what time the movie starts? Ans:d

42. Choose the correct sentence from the following. [NU (@) 12-13)
a) Where you think this story took place? AT a9

b) Where did you think did this story take place? % FIEA T T

K:) Where do you think this story took place? 0 CSAE T 27?

Ans:c

d) Where do you think this story take place?

43. Could you tell me ? (SIS ICS SAFTeH & AT 54 CPIr) [COU (B) 17-18]

a) where is the bus stop b) the bus stop is where

¢) where the bus stop is d) is where the bus stop Ans:c
44. Which sentence is correct? [«5 (FIH TBRA?] [RU (A1) 17-18]

a) Where did it happen? b) Where it happened?

¢) Where was it happened? d) Where happened it? Ans:a
45. Why — use the medieval Bengali legend in the poem? [CU (A) 17-18]

a) the poet b) is the poet ¢) does the poet d) do every poet Ans:c
46. Which one is the correct sentence? [BSMRSTU (E) 17-18]

a) Tell me why have you done this? b) Tell me why you have done this.

¢) Tell me why did you done this? d) Tell me why do done this you? Ans:b
47. Which one is correct? [SI¥It® TS Al & O T4 =107?7] [BRRU (F) 16-17]

a) Can you tell me what the time of his arrival?
b) Can you tell me what is the time he will arrive?
¢) Can you tell me what the time of his arrival is?

d) Can you tell me what is the time of his arrival? Ans:c
48%. What (to speak) to her about last night? (oaIt@ = ATY & AT FA IAR?)
a) What have you spoken to her about last night? [KU (BBA) 15-16]

p) What you spoke to her about last night?
¢) What did you speak to her about last night?

d) Had you spoken to her about last night? Ans:C
49. l*;f{w':ong —to cross the Atlantic by ship? (=i WG5S TZETSR AT TS FT FANF FCA?)
s b) does it need .19
[— m%g—;:;: _:::{C:ﬂ — . d) does it want (BSMESTO S /lfns:c]:
S s B scmcn.c :‘!17(5:;::_@?07 t—ake 929 2 | It takes an hour to get to the aifPE
2) Tell me how are v Al gfar G et 1) [BSMRSTU (E) 18-19]
8) Tell me h W are you? b) Tell me how you are?
oW you are, d) How are you tell me. Ans:c
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mh — to buy the ticket for the match?

- b) i o)
g it cost - b) it does cost €) does it cost @) it costs
«When —7° 'm sure. More than 100 years ago

(MBSTU (D) 16-17)
Ans:c

Q. v , ek
' ") did l?m |clcp:\c;n‘c |Iwcnt rb) has the telephone invented e
) was inventec the telephone d) was the telephone invented Ans:d
Which one is incorrect sentence? A
83 e " (Ao e amirsfin (F) Su-34]
a) Why d(? you do Il.?' b) Why did you do it?
¢) Why will you do it? d) Why you do it? Ans:d
. A:Doyou know -—--? (B &t 5 o1 (w9)
" g:No. .l’vc never seen him before. (71 =fit w1z st g cifafa) [CU () 05-06]
a) who is he b) who he’s  g) who’she  d) who heis Ans:d
55, Can anybody tell me ---w-weee, (G IS 117 ¥ G1 (TS (30 TH17) [BSMRSTU (D) 15-16)
a) How tall does she look? b) How tall she looks?
¢) How tall is she look? d) How tall is she looking? Ans:b
56, What time = (T O O TA?) (COU (A) 15-16]
a) begins the film b) does begin the film
¢) does the film begin d) does the film begins Ans:c
57. Between whom 7 (I W TOIRM ZwE?) [CU (D1) 15-16}
a) the battle fought b) the battle was fighting
¢) the battle was fought d) was the battle fought Ans:d
58, Canyou tell me ——-——-—--2 (Pf¥ f& SIS Fece AR T Y TICSCR?) [BU (°t) 15-16]
a) when he is coming b) when is he coming
¢) when does he come d) when did he come Ans:a
59. Do you know when - [DU (D) 09-10, NU (fz=iw) 13-14, InU (B) 15-16, Medical 22-23]
a) the results will publish? b) will the results publish?
¢) the results will be published? d) are the results published? Ans:c
60. Do you know - at night? [efir & et 2ire Fo “Fea T bee wea?]  [CU (B7) 14-15]
a) how often does the bus run b) how often do the buses running
¢) how often will the bus run d) how often the bus runs Ans:d
6] Which sentence is correct? [T sffq o A 2] [RU (B-Law) 14-13]

a) Can you tell what is his name? b) Can you tell me what is his t.1amle?
¢) Can you tell me what his name is? d) Can you tell me what name 18 his?
62. This highway patrol stopped our car and asked us where - [KU 08-09, 11-12]

This police officer stopped us and asked us where -
[srearar o (A2, grEBe)-oe, RU (L) 06-07, arernd i Seud IRS (@fed, a1 @ff)-e]

Ans:C

a) were we going b) are we going ¢) we are going d) we were going Ans:d
63. Do you know —?  [% & wieel f%2] [COU (B) 09-10,CU (D) 13-14]

4) who is he b) who he is  €) whose he  d)who’sishe Ans;b
64. Do you have any idea ---- (¢S (I el wiice o 42f6e wr we?) (U C213-14]

a) how much does the book cost? D) how much is the cost of the book? |

€) how much the book costs? d) what is the cost of the book? Ans:C
MASTER 649
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65. Idon’t know —. [@f#GI@] - [m

&) who is he b) who is he? ) whoheis @) who he is? Ang:.
66. 1do not know —, [@fdt 71 &1 (w1 @Bt Fa0At) - U (©) 111y,

R) because he did b) why did he ¢) why he did d) why did he do Ans:;
67. I‘veno idea [T Gt el 18 o ety forcafet] (U (©)11.1)

a) where did he go b) if he did go ¢) did he go?  d) where he went Ans:q
68. T have no idea how long- [=n0a ¢t vt (12 siEsm =% sww A01a] [CU (H) 12-13, (H-2)12-13)

a) does the interview take b) will the interview take

¢) takes the interview d) the interview will take Ans:d
69. I‘venoidea-.  [ST@ CHTA 4iAel (% (7 F1SILA A1 FA0A?] DU (©) 1112

a) how will she do it? b) how will she do it

¢) if she do it d) how she will do it Ans:d
70. Can you tell me when —--? [CU (B-1) 11-12, (I) 13-14, HSTU (A, F) 14-15]

a) does the train leave b) the train leaves

c) leaves the train d) will the train have left Ans:b
71. He asked me — . [T I fowes wata @iyt w4 o<1 fovafza] [CU (A) 13-14]

a) when did I go there b) when went I there  ¢) when I went there

d) that when I did go there e) when I gone Ans:c
72. The soldiers were unable to determine where - [CU (B1) 12-13, (I) 13-14]

a) had the jeep been left b) had been the jeep left _

i:) the jeep had been left d) has the left jeep e) did jeep been leave Ans:c
73. Could you tell me ~—-? [ﬁr/aszzﬁ‘rww % 4T 7] [CU (B-2) 11-12, (D3) 16-17]

i) what’s the time b) what time is it @) what it is time

d) what time it is e) what time Ans:d
74. Find out the correct sentence. [@ﬁﬂ E?] [BU (D) 14-15]

a) What time it is? b) What time is it?

¢) Is what time now? d) It's what time now? Ans:b

75. Find out the correct sentence. [S7o™G T4 & 7] [BU (D) 14-15]
a) When have the programme start?b) When is the programme going to start?
€) When the programme start? ~ d) When the programme going to start? Ans:b

76. Choose the correct option. [4% “T%a w4 f&7/9% = 71 6 @RT?] [BU (D) 14-15]
a) What means this word? b) What does mean this word?
€) What does this word mean? d) What is this word mean? Ans:c
77. What —at ten o'clock when I phoned? [ =iyt T4 o Srafeay ww fs wafeee?]
a) did you do b) you were doing [BU (D) 14-15]
€) were you doing d) did you ADE
78. He asked me [c7 e feress watan s iy ) [KU (f=m,- %=1) 13-14]
&) what is your name, b) what was your name. [1U (5) 05-06]
" 't:ewhdt your name was, d) what my name was. Ans:d
. asked me why ----- . (07 S ferret we W1 (@9 I AEEAN)  [RU (B-Law) 16-17]
\Mdk b) did I speak  €) I spoke d) do I speak Ans:C

'} MASTER 650

CamScanner


https://v3.camscanner.com/user/download

]
L e

m@ow where —-? [ofy § ST o S A7) [CU (D) 11-12]
5) does he come from b) he comes from
E) did he come from d)‘ is he from Ans:b
g], Couldyou tell me what time --? (arn%r I IS AAR?) [CVASU 13-14, CU (D3) 16-17]
Do you know whaf time ---? (7 & w5t arCen?) [JVASU 14-15]
Eﬁ is it b) was it ¢) has it d) it is Ans:d
g2. Canyou tell me where — find the hook? (s it e <251 (09 afr)  [CU(G) 16-17]
a) can [ b) can ¢) I can d)do1 Ans:C
g3. Which of the following sentences is correct? [(Hai i & Zafeer?]  [NU (T1%) 12-13]
h) Where was he born? b) Where did he born?
c) Where has he born? d) Where did he bear? Ans:a
g4. Choose the correct interrogative form. [DU (A) 07-08, (D) 14-15, RU (A5) 11-12]
a) When did you born? b) When were you born? (@4 (T & TCAE?)
t) When are you born? d) When you born? Ans:b

R S T, (PRI, TSR TARIRH FCACT O SIS O el FACS 2 412 past indefinite
tense T AR (FT NI TR FACS A1 7, T FEF SITe T (16T T T passive voice FACo |

85. J_phn has not been able to recall where —. [RU (B-Law) 08-09, CU (B) 09-10, 17-18]
a) does she live  b) shelives ) did she lived d) lived the girl Ans:b
86. Idon’t know where — so early in the morning. [CU (D) 09-10, (D)12-13]
a) could he go b) he could have gone
¢) could he have gone d) could go he e) did he go Ans:b

87. I’m trying to calculate ----. [T (Ot TR T BT A1 PUICESIEY [DU (D) 04-05]
?) how many money you owe me b) you owe me how much money '

5:) you owe me how many money d) how much money you owe me Ans:d
88. Idon’t know -. [eifer = o7 Fie e 9] [JU (C) 11-12]
a) whom he will marry b) whom will he marry
¢) who he will marry ? d) who will he marry Ans:a
89. Idon’t know -. [ﬁﬁ‘ﬂ C’TW Giaical| [JU (C) 11-12]
a) when will he come b) when he came
d) where did he go Ans:b

¢) where does he go
90. Idon’t care how much —. [&

?) does cost the car
¢) cost the car d) the car costs Ans:d

91. The consumer price index lists — [cST@! T TP afsf nfea Jor wiffeigs )
a) how much costs every car b) how much does every car cost  [RU (Law) 07-08]
¢) how much every car costs d) how much are every car cost Ans:c
92. Identify the correct sentence. [fambaiz e (F)-0, NU (W) 12-13, PSTU (A) 14-15]

a) Which colour you prefer, the red or the blue?
b) Which colour do you prefer, the red or the blue?

c) Which colour you prefer, the red or blue?
d) Which colour you prefer more, the red or the blue? .
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T 1 CRTYI ATCF] [DU D)y g~
= ect sentence. [u”_a_” e . )01°02]
93. Identify the corr b) 1 did not know where he has been lived

- ives .
a) I (ciio nott limo‘:lv xz}ierzedli i‘}‘]’g lived) I do not know where he has been lived Ans:,
¢) I do not kno

e AT FIE0T FA?] [RU (F) 13,
rect sentence. [ 4)
94, Fhoosc tt}:l:scc(r):/ant does the work? b) How do the servant does the work?
a) Howd os the servant the work? d) How does the servant do the work? Ans:g
s :’)v l}lloow owas colagt take your photograph. [NU (33%) 14-15, BSMRSTU (E) 16-17)
" Who — was going to co

nduct the test? [CU (C) 12.13)

Who — was coming to see me¢ this morning? ; [CU (E) 05-06, JnU (D) 06-07)
a) you said b) did you say €) you did say d) did you say that Ans:h
Wh word i second clause 43 Subject T S Fhat T TBYE FACO X T |
Who did you say was coming to me 'this rrfornmg?- (not ....... _say thaF was coming ........ 7
Source: Advanced English Grammar —Martin Hewings — Unit 33 — Forming questions page 66 3 (737 |
6. Find the correct sentence. (7 f6t 7w Fe?) [BU (C) 13-14]
a) How much the cost is of ten eggs? b) How much the ten eggs is costing?
¢) How much is the cost of ten eggs ~ d) How much the ten eggs cost? Ans:c

97. Choose the correct sentence. (mmf@mﬁﬂwwﬁ & ifd FERE) [RU (A, Reemg) 16-17)
a) He asked me why I was late.  b) He asked me why was I late.

c) He asked me why I was late?  d) He asked me why was I late? Ans:a
98. When ? (SR ATS FUF TabT TANE TA?) " [CU (C3) 16-17)

a) does he think the war will end b) does he think will the war end

¢) he thinks the war will end d) he thinks will the war end Ans:a
99. What time —? [0 G RITG?] [MBSTU D 14-15fg, Tt @ wfier s7oviw waeteres Farorar w3t sa]

a) does the train leave b) the train leaves I STt (U8er WoTEa-0

¢) the train is leaving d) leaves the train Ans:a
100. Could you please tell me when --——---- ? The missing words are: [RU (A, c=mg) 16-17]

Can you tell me when ------ ? [TCe #E & T G 2ITe?] [HSTU (F) 14-15]

a) does the train leave b) the train leaves

p) leaves the train d) does leave the train Ans:b
101. Do you know -—---—- ? (/o B o wre wifks sgeifge @ar) [BSMRSTU D, E 19-20]

a) why Abir is absent today b) why is Abir absent today

¢) why Abir was absent today d) why has Abir absent today Ans:a
102. Can anybody tell me (CF® AN FCe =Nt & o7 ot a7ame) [BSMRSTU (D) 15-16]

a) How tall does she look? b) How tall she looks?

¢) How tall is she look? d) How tall is she looking? Ans:b
103. The Prime Minister was asked what — to do about inner city crime. [BSMRSTU F 15-16]

a) did he intend  b) he intended ¢) intended he d) he was intended Ans:b

104. Could you tell me (o & SIMITe F#10S A1 (@ TowrT i rverz?) [JU (C2) 15-16]
a) who has won the prize yesterday?h) who did win the prize yesterday?

¢) who won the !)rize yesterday?  d) who did won the prize yesterday? Ans:C
105. We have to decide when — submit the proposal. [CU (D) 08-09]
a) do we have to  b) we have to ¢) we do to d) doweto e)to we have Ans:b
MASTER 52)
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100:

107

108,

have one’s hair cut = =1 S+

109.

110.

1.

* ¢h se
i) Do you know how often the b Sentence cor

! : uses Fect]
p) Do you know how ofiep the b“qc: ran? Y rewrite the sentence above, |
g) Do you know how ofien g, the by g IMBSTU (D) 14-15)

€ bugeg nun?

@) Do you know how often diq the byg
SCS§ nln?

The teacher asked the hny -

p) what was his name and what did.ll}.(.‘,“\;am [CU (B ‘AHS:b
shat his name was g (B-1) 14-15]

b) w h'“.] ) " and what did he want Ferman Rl femss waree
hathis name was -

¢) what ‘ and what he Wanteq B A a1 o1 s w1y

d) what his name is and whay he Wanted

S
Where (%% cterry LIS L Rl T28 57!15?] Ans:c

a) did you cut your hair
¢) did you have cut your hair

Could you tell me - . N T et oo Prafazers |
a) where d‘ld you go b) where you went | ! e
¢) where did you went d) where are you go

Ans:b

Do you happen to know (cermm f gy SR &1 = At e 571 ooy

% B0 (5137
a) why has he left the office? b) why did he leave the office? !
¢) why he has left the office? d) why had he left the office? '

U (C2) 15-16]

The English Translation of “qd5+ifs IR qebfeery” INU (%) 12-13. RU m?;‘s;::
a) Where happened the accident? b) Where was the accident happened? | ]
¢) Where the accident happen? d) Where did the accident happen? Ans:d

Choose the correct interrogative form? [efr =7 Hsc T FAA/FR] (DU (A) 07-08
a) When did you passed you HSC? b) When did you pass you HSC?

¢) When are you pass you HSC? d) When have you pass you HSC? Ans:b
[13. Choose the correct interrogative form? [t ¥4 (erea/cstrares) [DU (A) 06-07)
a) When is you going to arrive? b) When you going to arrive?
€) When are you going to arrive? d) When you are going to arrive? Ans:c
4. Dhaka is famous for mosque. The correct WH question to this sentence is ?
&) What for is Dhaka famous? b) For what is Dhaka famous? [InU (B) 13-14)
&) Why is Dhaka famous for? d) What is Dhaka famous for? Ans:d
'15. Do you know when ----? [ofit f& e suom a0 o3 207 (KU (et ) 13-14]
#) the class starts b) does the class start [JKKNIU (A) 13-14]
" fl) Will the class start d) is the class start , Ans:a
- ‘How > ‘Nobody knows’ [*746+ Freia W6et?’ ‘(8 &I '] [JU (#1) 09-10)
:)) (}jlfippened accident b) did happened the ,ZCCidem -
I Id the accident happen d) happened the accident :
7' :l;j?l{“lilfy e correct sontence. [ et ceme Tﬂ'ﬁs}our na[if: - W£ FfEE-H5)
t) T:ll T hat your name ] ” i :FC“ " W:::t l:; Zlour name? Ans:a
MASTE] me what your name is? d) I'ell me wh €53
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~ is ¢ 36™ BCS, 27" BCS, enfir erqy
. Which of the followin sentences I8 correct one? [
: T fag wfadl-so, DU (C) 18-19, w1 FASIT IR WAEDa-q0]

(Amifer)-33, BRUR (D) 14-15, et et -
b) Paper is made from wood. BSMRSTUD 13.1g
d) Paper is made on wood. Ansih

a) Paper is made of wood.
¢) Paper is m: od.
¢) Paper is made by wo W0 rf)06-07, BSMRUST () 2.1

Which one is correct?

!‘J

a) The chair is made of wood. b) The chair is made -from wood.
d) The chair is made 1n wood. Ans:a

¢) The chair is made by wood.
o AT A (oICd (ed BAMI *AIE TS A made

e Sfered o9 8 T8 TAmA weifaafes
ade @1 #Itar from ICT 1

T T of 7 | FBF (It (T T =@ A FCO A M
[DU (A) 08-09, (C) 14-15, TU (D) 12-13, 13-14]

b) He offered his vote for you.
d) He dropped his vote for you. Ans:c
cast @ past form @ past participle 0% cast
i3 T T WEifae 24 |
[BU (D) 14-15]

3.  Which sentence is correct?
a) He casted his vote for you.
¢) He cast his vote for you.

cei5 (=g cast (a/one’s) vote IIFS W AR

casting vote — Fias (oiB, TR ¥R ATHA (S5 AN O (7

4 Choose the correct option. [ % O 4T1]

a) Come at nine o'clock in Friday. b) Come on nine o'clock in Friday.
¢) Come at nine o'clock on Friday. d) Come at nine o'clock a Friday. Ans:c
exact time I FRPESIE e Fead *d at 967 | foea <IN/AEE 2T4a on ¢ |

5. Choose the correct sentence. [RU e 09-10, Sf-greifis Earar fres (Seren)-38, IFIC Bank

(TAO)-18, ffebifs e AMEETT G- S, IREMCT 1 RO Qe TR TrFRF-29]

a) I saw his pulse. b) I felt his pulse.

¢) I found his pulse. d) I examined/checked his pulse. Ans:b

(Grie) =T8T o7<T = feel/take (one’s) pulse | CHAT WG (AT T Ay AT M ST FACO 7 |

6. The correct sentence is: [10™ BCS, JnU D 07-08, RU F 14-15, LGRD &7 &% 3eI-22)]

a) I asked Javed had he passed.  b) I asked Javed if he had passed.

¢) I asked Javed if you had passed. d) I asked Javed that she had passed Ans:b
7. el AR [ W fares watEr Sy o ety 5] [emifire st foree-5a]

a) He asked me did I pass b) He asked me if I passed

¢) He asked me if [ had passed d) He asked me if I have passed Ans ¢

@21 ask W-ﬁ%m “74€1 clause b if weqr WH-word 44l &= 203 @32 asked 93 object W EEn
clause 47 subject 203 @3t 447 clause i past indefinite tense 4T 23St clause & past perfect T
8. Which one is incorrect? [BU (D) 13-14]
a) I need an apple. b) I need some apples. |

__©) I need apple. d) I need the apple. Ans:C
Flﬁﬂlaf coun.lablc noun (% w4 @i 9RF AW 971 Singular countable noun & ofd
'ganlcl(?:]detennmer VA& 90 @ wedl @9 plural @909 210 | e.g. I like mangoes/a mango.

g ; ]?}?:(i th:; .wrong sentence, [31' BCS, RU (E-ftsy) 14-15, (E-(5T9) 16-17]
| and is belonged to an old lady. b) They parted from one another suddenly-
©) The leader expressed himself forcibly. d) Mother bought me an ice-cream.  Ans:?

a) (% is belonged @7 7w belongs Al belonged 2 | e, belong @¥ passive 27 91 |
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Wich one is correct sentence?

A) The doctor found [41*BCS]
©) The doctor examinc:i, &u;scl']l F_’) The doctor took my pulse.
Take/feel one’s pulse = ?‘T@Tp se. d) The doctor saw my pulse. Ans:b

; TG Tt (=wtret e
11. Select the right word to complete the scntcnce.?ﬁm |

Doctors — our pulse,

- ) (%% et @ oy et Sot @ e (fFF)-ss
a) See b) Examine €) Verify d) C;"E 1 ) ( Ail ;
12. Choose the correct sentence, cf fi , ]
- _ " WA ‘ -0
ot Bow o e s
c) you are d) How are you old? Ans:a

How + adjective + be verh + subje
13. Choose the correct sentence,
a) He gave me some advice, b

ct? How old is this bulding? How big is the house?
[Re et aarsenizon fafinse g arfeess s (Bf)-25]

) ) He requested for my help. Medical 22-23
;) Ifama;ﬁry bctte;today, . d) The goods are of inferior qualities. Ans:a
) o ¢) much better d) quality (to be of good/poor/high/top quality)
14. Identify the correct sentence. [wEfis witerar s cam-20]

a) Someone is knocking in the door.

2, b) They have gone for walk.
¢) My son does not like the vegetable. >

d) Discuss the matter in detail. Ans:d

a) knocking at b) for a walk (go for a walk = @eITe e c) like vegetables
15. }Yhich sentence is incorrect? [ ¢ freenzefa sfivems foemiw-2o]
a) [ feel unwell. b) I have a headache. Open at page 50.
¢) Open page 50 d) I wish I could fly. Ans:c
16. Choose the correct sentence. [&rTe! < SR (1) -20]

a) There is an affinity two language. b) I still adhere with my pla

c) He is alarmed for any safety. d) The meeting was adjourned for a week. Ans:d
a) an affinity between two languages b) adhere to (@7t 21=) ¢) alarmed (8r) for my safety
17. Choose the correct sentence. [ st fres (84 €91)-35]

a) We were discussing about the whole matter.
b) We were discussing the matter.
¢) We were discussing totally about the matter.

H) We were discussing about the matter. Ans:b
discuss Z% transitive verb @R discuss a3 =¥ Tz talk about ©1% discuss €% *T& about IGT M | |
18. Choose the correct sentence. [ @ ~AfRR T TR TA-TZIRA It (Sfee)-35) |

a) She dyed her black hair. b) She dyed her hair black.

¢) She died her hair black. d) She dye her black hair. Ans:b

Subject + dye (72 #4t)/dyes/dyed + object + adjective = She dyes/dyed her hair black.
19. Which of the following sentences is correct?
[AreemTt eferaferet Ffp (AfEeTe T2)-db, R IRemom qurenide (qui wfebe)-2o]
a) I think him to be my best friend. b) I think him as my best friend.
¢) I think of him as my best friend. d) I think him is my best friend. Ans:c
think of sb/sth as sb/sth- S/ @ frgre frmeia g e R =)
\Lth'ﬁof this place as my home. I think of you as my brother.
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[WW
f Dhaka is better than that of Rajshgy. ]
¢ had died before the doctor came,

20, Find out the incorrect sentence. here
7:5 See the word in the dictionary. | ) Th

) Mr. Rahim is on the committee. d) TI;:@]:;;K;HW e Look up .
Ans:a : a) (& Sce @3 T Look up X9 | 1A, ( s WIS "
the correct sentence. _ . - _ mrma. I e
- f)hl::s;mf:m to read than to write. b) He is completr.ltl:’fliy bcl:ttcr today )
: ( d) I ks fluent than 1. -
s scarcely any money. d) He spea - .
a) pr?fc}r{::;::i;:;:; \iritil)llg et to read rather than to write I | b) cozy;aratwe[i;m oy
better WL comparatively good TI | d) A= action verb ‘speak’ ¢F modily PR

adverb =mite Rui¥ fluently I

22.  Which one is below is a correct sentence? o . N [:ewewmﬁ-w{_»]
a) They have seen me yesterday. b) I like !1is childlike SlmpllCIty.h

¢) It is I who is to blame. d) The girl resembles to her mother. Ans:b

a) <1 yesterday SITg ©12 saw ¥ | ¢) am T | d) to I, BY resembles T |

23. Choose the correct sentence. [’“@ﬁﬁmm@m AT 33
a) He says me a fool. b) He shook hands with her.
¢) They know to swim. d) We discussed about the matter. Ans:b

a) says @3 %= calls T | ¢) know how to T3 | d) about IM, VY discussed 2 |

24. Find out the correct sentence. [aeog Sfawersd af5rba-3s]
a) I sold all of my furniture. b) I sold all of my furnitures.
c) I like vegetable d) They have gone for walk. Ans:a

b) furniture ¥R | =, furniture TR uncount noun ©i 4« plural FW 1 1 ¢) vegetables T |
d) for a walk Zt3 | a walk 2 | walk %4t I LI FI[CAd T AT SN AT ©f countable
noun =¥ | 1% @7 ¥ a I07 | go for a walk, take/have a walk, take sb out for a walk Tenifr |

25. Which one is a correct sentence? [>¢ST oerET fam-33]
a) Every students are present today. b) Ten kilometers are too far to walk.
¢) Two-third of the students got degrees. d) All the information is current. Ans:d

[ a) Every student is 2% | #139, Every + singular noun + singular verb ; b) is T | T, 9FF

| e iacw w9, I, PR GFF (TS plural 218 singular verb & | ¢) Two-thirds T3 | 3=,

| one <TETe SR A%+ #L37 (Fd 24 plural =09 | @ three-fourths, two fifths

26. Choose the correct sentence. [BSMRSTU E 19-20, oo e 1, oo (IT)->v, DU (D) 03-04]
a) Men usually want to have their own ways. [NU (w=f3®) 07-08]
b) Men usually want to have their own way,
€) Men usually wants to have their own way.

d) Men usually want (o have his Own ways. Ans:b
| Have one’s own way = fecera srer aq e | BISIERAS T Wwﬁmwmmml_,_]
27. Cho.ose the correct expression. ERIED ard;{am 3 aﬁ;wmi;’@??—”]

:)) ;1\\,'2 ll]mngred taka b) F'ive hundreds takas

| undred takas d) Five hundreds taka Ans:C,3

taka ag akag \ ol
i dp L:ra'l % takas (formal)/taka (informal) @ig hundred wre *0E adjective RO 2 Q¥
Plural 23 711 | He owes me 5 takas, (@1 I 0g @ Bt eet Wiy = wifiy i B ¢ B A2
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78. Find the incorrect Sentence

0 :
a) He knows in and out of
¢) The child wag i

(R e et FEATHA FZFA T3]
t affair, b) He made light of his friend’s waming.

in and out 9% ¥tey —B%0d as gold. h)l took him to task for his carelessness. _Ans:a
a) 1n - 1S and outs zrq; (wfoer) o 8 and outs Gaee !
29. Choose the correct Sentence TS ins a

ake carfa of hig health,

[ttt wfimaran s sfistre (@) @ Rt SfFEE-o4]
M In the afternoon I stay home.
. d) T am very busy this morning. Ans:d

¢ Y ) .
TR ¢) one time or two times 9% ¥ once or twice TR |
0. Choose the correet sentoeer "¢ time.

L [ ~tfiwer wTet @ AR F F i -ob]

Bj One should t

31. Choose the wrong sentence,
a) He was always arguing with his brother,
b) His failure resulted for lack of attention.
¢) When will you write to him about your plan?
d) Who was the boy you all were laughing at? Ans:b
b) resulted from 2= | T, AT [ rR—— T result from IJ95® 27 |
32.  Choose the wrong sentence. [30th BCS]

a) Neither you nor I am in sound position. b) Laziness is detrimental for success.
¢) He begged the favour of my granting him leave.

[31" BCS]

d) Your action is not in conformity with the law. Ans:b
b) detrimental to (T | FTa%, A f5ga &y Fowa IT detrimental to BISECERE
33.  Choose the grammatically wrong sentence. [30% BCS)
él) He has no desire for fame. b) I intend going to Rajshahi.

¢) He has invited me for dinner.  d) He is too miserly to part with his money.  Ans:b

%b,cW@CALD (T TR ARRET T G5 PR G WP b & 991 407 oz |

34. Which sentence is incorrect? [CU A 19-20]

a) I feel unwell b) He prefers tea than coffee.
. headache. Ans:b

¢) Open at page 30. d) I have a

m’{tﬁ tE fc%r | e, Sfeed g™ a4 oed prefer (noun) to (noun) TIRF® =7 |

3. Fee i Ao ey [oTT @<0! SRl IS W] _ [ e firene)
a) I have urgent piece of business b) I have a urgent piece of busu¥ess
¢) I have a piece of urgent business d) I have an urgent piece of business Ans:c

business *rwf5 e wr uncount noun 1% @ singular count noun FCE a7 4tf piece of

W w]: business & qualify TS 35 adjective fo (private, urgent) business @3 N 6T |
7 business ReS et

FB: I have a piece of private business with you. (COT AT S ?‘B’Tmmm)
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U (m
; t sentence? (N By 135
ich of the following is not a correc TR ‘ 5
e g l;;:?lgists that he go there. B) The govcrpmcﬂt ;18 gzldniﬁ to bring a change,
¢) The farmers are poor. d) The book is wort :;# E: o, Ang.
i ‘ lural common noun @g FATE the | O
b) bring about T3 | ¢) = FATS p gl e g i

a7 94 the 707 | cova: The farm '
ojid ora 1 subjunctive word + that + subject + base forp,

[BRUR (F) 13-14]

= plural common noun
a) So®w 1 &=0e Subjunctive SO

37. Which one is incorrect?
&) He has put on much weight. b) He does not know how read the watch,

©) My watch is very slow every day. d) I saw him only once after that. Ans:}
'Lc) know };ow to read =@ | know @7 ta &% how to + verb @¥ base form T79%% 77 |
38.  Which one is incorrect? ' ~[BRUR(A) I3-14, RU (E) 18.19)
a) They have several offspring.  b) He insisted upon his innocence.

©) Her hairs are very long. d) Fifty miles is a long distance. Ans:c
[DU (B) 11-12)

39. Choose the correct sentence. Ut
&) His hair are not straight and curly b) His hair is not straight but curly (¥1f71- @)
©) His hair are straight and curly  d) His hair are not straight but curly Ans:h

| €) FREE hair 252 Uncountable noun ©12 @3 plural 27 €32 hair @9 “Ita singular verb %7 | |

‘40. Which of the following sentences is incorrect? [JU H 18-19]
a) He lives quite far.(GT @ 77 21) b) He will-.come short.
¢) He came late. (&7 (7fate @#) d) Today is really stormy. Ans:b

' b) ¢® short «% %= shortly 22 1 shortly ¥ItH soon (M¥3) ICET I 37 NYS WA |

41. Select the correct sentence. 7 [T =3 forst wfFTR-o¢]
a) Did they wrote books? b) Did they writing books?
€) Did they write books? d) Did they have written books? Ans:c

' Ans:d; Do/Does/Did + subject + verb 43 base form + extension.
42. Choose the correct sentence. (<7 @ AT QRGN THECHR E IR FS-08, RU (A3) 11-12]
&) Do he have a house? b) Does he have a house?
, €) Does he has a house? d) Do he has a house? Ans:b
 Interrogative sentence %#te Do, Does 41t subject €% #ta principal verb @3 base form
“e=e = | Do + subject (first/second person) + verb (base form) + extension + ?
| Does + subject (third person) + verb (base form) + extension + ?

43, Whif:h one of the following is correct? [ NEAEACH =i Siwst-o0), W wyeleTCy S
#) Did you finish the work yet?  b) Did you finished the work yet? -]
c) Hzfve you finish the work yet? d) Have you finished the work yet? Ans:d
. .."”lnm’ Yet? Now is your chance to do so. [DU (A) 09-10, BRUR (A) 12-13]
ﬂ Don l’ you meet b) Haven’t you met
€) Hadn’t youmet — d) Weren’t you meeting Ans:b
Yet 9% present perfect tense 24 | Have/Has + subject + past participle + -- + yet ?
45. Which is not incorrect sentence? [Gri51e1 CeTea=itrs wistex @7 wior i SRemd-33]
a) He.came this moming, b) Asad is sick.
&me a liar, d) Put your sign here. Ans:2
H'=tq i ¢) told 99 9e# called 29 d) sign 97 Feo signature 29 | ::j
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® COrTect semtenegd e

W He appeared iy ’ [RU (A, c) 16-17)
She abeenteg frn:: ::'!;m by My parents always gives me good advices.
SR IR %‘mrm -~§;;3_°;H__“'__) Our students went to a picnic Ans:a

YRTY ¥ W A, WPy vem—— 2 |
 8dvice v appear at (TG), go in for, sit (for), take 7153 &0

w1 W, absent, avai] uncountable noun = a2 plural =7 =it | ¢) absented herself

_ * ENJoy, pride (o ‘ :
it reflexive Pronoun =smrs ;:7 (T4 =), exert (mp2 Ar=t) T verb atma A subject

CRA LR L e p— g,\w;’\"'ll"ent for a picnic =tz

? o -
ﬂ | hangcd my shirt on the wall [orrefirs @t formen »n)

_ B} 1 saw him playing football.

&) One must do hie , - m playing foot

"a) hung == | 1w, shir%%j;‘,};“h?‘myﬁbﬂq-mmm 2 ol __Am:b
hung 1 €) one's Ta | gy o 1 TR (%% hang o7 past form @2 past participle 272
, - __\\\_\‘?__Oﬂgiﬂf Possessive #4413 one's 57| d) appetite for (1) 327 |

4K. Which of the following iy RTImTl_{;I‘lci—I‘i;cngfect? T T — ST ST yo

..3 | prefer Walking to riding. b) 1 do not know to write

©) He pave me a PeN 1o write, -

d) He gave me a lot of informations, Ans:a
| h) know hO\W . Wi i 1 ;
29. fawsw o T weo '

a) I will avail the Opportunity.
€) I have seen two deers.
&) avail myself of &2q | F129, avail aq

) ndvice 7 | wpmy

[er=-amfas srwrd forws (- o)
b) I should take leave of you.
d) Television is a wonderful discovery. Ans:b
| It subject ¥ M7 reflexive pronoun 492 of AT |
| €) two deer 2T | T2, deer @7 singular @ag plural form 9a% zv | d) invention w4 | @raer,
1' AT € fe 1 @ww fey wifewm (TwEra, 9T T2 %f2) wref invention arams Ly

50. T w7 we? [=rs-arefis wgard frwas (o). 3o
a) | feel out of sort today. b) He tried hardly to succeed.
€) I have great deal of work to do. d) Please give me attendance. Ans:d

#) out of sorts 24 | out of sorts- Wz CAM TR AN IAHAS ST R 9% | b) hard T | B,
| hard @7 we @EETE War WS verb @a “ita A0 | hardly @7 =< @wifse 932 9 verb a7 Wiy 707,
! (He hardly comes here.) ¢) a great deal of =@ | w1&9, Wwe a1 apa Wy 4 great deal of a5 W
51, e T og? (24T arm Frwaoy, (Fr@dlt)-on)

#) | have read the first and second chapters of the book.

b) This is the most unique opportunity. ‘ | |

€) Four soldiers were wounded and one killed.  d) Let him to know all in details. Ans:a

b) a unique @@ | w24, unique 49 superlative degree €490 ¢) one was killed 29 | TR,

| complex @l compound sentence 99 TSH WA (ransitive Yerb I To¥ WCEE passive W
1 d) Let him know all in detail, 2ta | 8¢, Let + object (4/&45%/4§45%) + base form (V)
52, A coler a1 w7 [&T4T @ Frws (v frspi)-o4)

; ining fi . b) He 1s senior than you.
#) It has been raining for two days 018 se . |
t), Do you know who am 17 d) Airport is busy place. Ans:a

b) senior @ A4 than 94 ycﬁ (S:C;:) who am | 99 % who | am 23 | 9739, dependent

— N 659
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53, W I oW atakert by Many a man has ((iio_ne S0.
o is mistaken. m vice.
") Either he or nI\c lsirlq love to dance. d) He gave me a;lt; = Ang,
¢) Everyone of the gif ;«iﬁ <bject form @1 Either @7 1t 77 subject form %, ez

[@) 1 am w1 ¥, verb @

form BT 1 b) Man a/an @% *@ noun @ verb IR singular ),
a3 «t@e subject fom

lural N/P + singular verb 1 d) a piece of /some advice 7z,

n o) a4 p
e | Fveryone of the ‘
) foves 1 P . - 3
54, Wi vwr S . | i T fog
54, #) She is one of the best mothers that ever lived b) All failed except he ’
She is .
E} That is a matter between you and I d) It is not us who are to blame. -

b he @@ ¥ him T 1 ¥, except TR preposition S @ #Ae AYATS pronoun uﬂam
;}:m1 (me. us, him, her) 3671 ¢) you and I 9% ’{U-‘T .you and me 203 | I, between &

43 %% SYETS pronoun € objective form T | d) us O3 ZF we TA | IR, be
F7Ifir) @a A pronoun ¥ subjective form (I, we, he) 7e7 |

rerb (am, is, are, was, Werc

55 el vw < 9w 2 ._ [emafr ene firs (coene).oy)
8) He appeared at the examination b) The more he gets, more he wants,
) We write with ink d) He got the work being done Ans:a

T) more he wants €3 ¥ the more he wants I | T, TS O QRIS Toy comparative &3
| o€ the 7 | ¢) with ink &% ¥ in ink =T | T, SIS @7 AT in ink TS A | d) being
' done «% ¥= done TR | T, Get/Have + action receiver + verb @3 past participle

56. @I T [ T2 fres-oe, ()-ov]
a) It rained for three days b) Bread and butter are necessary
¢) It has been raining for three days d) Shahid can do anything what he likes. ¢

ag) rained @2 %= has been raining 2 | 9, for i since 9T “Ita FMB FIF SE A= verb

«Z present perfect continuous tense =¥ | ) are 99 30 is T | T, Bread '8 butter ‘and’ =t

7% UEEe G LR N AW 4 singular ZeT T97e 201 d) what @7 3t whatever
TR T, anything @9 W(AME IS AR, WE NS e (6T what 51 90T whatever 367 |

57. IR ww? | [emfie Sezrdt e (R@=(e)-30]
#) | have read a poetry. b) I have read a piece of poetry.
£) I saw his pulse. d) The man took his birth in 1968. Ans:b

f) & piece of poetry/poem %< | F1a9, poetry Tl 3R TS R T G386 [fET 4T gt 79T 77 | O -
e e W w1a/afaer 3TE a piece of poetry/poem IRTS T | ¢) saw @ W felt XA | TR, TR
R TR S 7 TR W AU @ 4 w6 G ordt o feel one's pulse T4ws 7w 1 @) took his birth
€2 ¥%% was bom rc«mq,mﬁmmﬁwmm,mmmw RSN TW 1] passive I FINCS T |

5%. fiﬂ??ﬁ-}h‘» %7 [efivs s fires-oe, (F%)-ov]
#) Fire and water do not agree. b) Bread and butter are his only food.
| €) Justice, as well as mercy, allow it. d) He and me are playing. Ans:a
b) is w4 | @144, Bread € butter ‘and’ 9 Y& YT O FON NI AW g fayw singular |
TEE e | ¢) allows ¥ | w194, as well as Wl & a@f\® noun/ pronoun 9% ¢%Ta as well as 97
&7 A1 g noun/pronoun <A verb aq | d) me a9 919 | @w TR, AAYS verb 9¥ ’F““
a1 @# 4% pronoun 4t dcerafia subject form (1,we, he, she, they etc) w1 | SUITYY
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59, @RI eS ———
a) [erefar Tzt ferwas (FaTeTE)-30]

:glt?c? %C are at the door. b) Time and tide wait for none.
- 0 gambling, d) We get up in d Anéh
are 9% p— get up in dawn. .
:Jﬁq:i:n ul;sr?ﬁm A The horse and carriage zmwz crom 1o 71 @wioara T R, R
addictei tomgr.bﬂﬁ Singular =3 ¢) addicted to =@ | FIEe, AR ING TG QRIS
: at dawn =g | e dawn (Tui/csrm)
, 207 (816 ANH ©1% @7 *t{ at 0T |

60. N IH|H

) I saw hi“w 4 . [amafir sz frwes (FaTemm)-do]

) Thtcre i i Something, b) I saw him writing something.

‘ S 10 place for doubt in j, d) He is deaf for hearing. Ans:b

write Q¥ iti :
.(‘!ferbﬂn ) ;;1\:“ 1Ig X | T, see + object 47 it base form @3t present participle
& p 9 ATetene SIS item ot present participle 9% 41 27 | ¢) place 97

¥ room (WW?TWW)W | d) deaf of 2t w1t Afiw wed deaf of a7a%= 27 |
61. @Wﬁm

a) " ?nnla 1s only present. b) The man was born in 1968.
€) I feel myself hungry. d) The sheeps are quite healthy. Ans:b

a) s iny Panna is present 37| ©) ¢ feel myself @71 50 feel TR | 199, feel LV Z31 @3 o=
Reflexive pronoun Iw1 71| d) ¢S sheep T3 | TR, sheep @ singular @ plural form @%% |

62. @7@ S =127 [errifir =il forss (22a5)-50]
a) Sohel is taller than I. b) We write with ink.
¢) Sohel is taller then me. d) I did not think it was her. Ans:a

b) in ink T | TR, FITTS (=T WS in ink TIF© =T | ¢) than 1 =3 | 19, than 97 *itF subject
form (I, we, he, she, they) I3g® =7 | d) she @ | 3, be verb (was) 97 it subject form ICT |
63. e == =T vw? [emfirs szl forsss (ot Rst)-04)
a) Sakib asked that how did he do. b) My son is ill all this week.
¢) The United States are a powerful country. d) The game drew numerous spectators :(i
a) asked how he did 27 | /9, dependent clause fb assertive sentence @ =@ | b) is @7 T has
been =T | ¢) is X | FIFA, T T AT plural TS FEW1E singular verb &zt 7 |
64. Find out the correct sentence.  [F7= FTA 8 YREPTM TgeeTTTT RAH g Rrwre s@rfs-oo]
a) This watch is belonged to my friend. b) Three-fourths of the work has been done.
¢) Five thousands dollars are a big amount. d) You should not indulge to gossip. Ans:b
‘ a) % is belonged @7 771 belonged 3 belongs | F1, belong @ passive tﬂ?‘{- continuous
tense TF | ¢) (O are aF T is TA | 9, Money a9 4 (TS plural w18 singular verb

%% %A | d) ¢ to gossip @F 0 in gossiping X | FHT, indulge 99 T in I |

65. cl AFIE ©&? [emfirs et fress (qefife)-ov]

b) She was taller than either of her five sisters
b) I was the man whom they thought was dead

€) Who do you think he is? d) Either of the scholars have done well Ans:c

ither I9R® 27 | b) & who T | T, =
i 0 | P, RO WO JATCO ether ’
Slz either 97 %1 an}’(m;bjec t+know/think/consider/believe &f® clause & 3 ficzr 7% verb
ause faf*2 ey ACIA

wtad, Either of + plural noun/pronoun + singular verb
91t ©q who I | d) has done I | T4,

e 661
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66. Choose the right sentence. [er wfmm
a) 1 don’t know who is he? b) I don’t know who he is.
©) They have gone for picnic. d) They have gone picnic. Ans:p
¢) @ d) @3 o 919 T They have gone for a pichic. (SHar FACsew/Prafns P i)
67. Which one of the following sentences is correct? [ens-atreifirs TewdY firws (*111)-361

i) A few boys are present today.  b) His dress is inferior than mine.

&) He prevented me to go there. d) He as well as his brother was'pres.ent.. Ans:a g
b) than €3 T to I | I, comparative form &3 =t than TS senior, junior, inferior,
superior, ulterior, posterior, prior %71 latin comparative ST “td to TC7 |
¢) to go @ ¥ from going T | I, prevent (somebody) from (doing).

68. s =l I war [etrefirs Tz forws (FaTemm)-se)
l) A big number of money. b) I met two women here.
e) Put your sign here. d) I have paid my schooling fees. Ans:b

a) number @3 ¥ amount ZF | F1E9, money T uncountable noun ¢) sign 49 FC signature
= | d) schooling &€ =_=gl/F%1 ©1% school fees 2T |

69. @ wF IFT? [arefiE o4 frFss (Cremar)-os)
a) He succeeded to win the prize. b) He cannot pronounce the word.
e) See the word in the dictionary. d) We got up in dawn. Ans:b

a) to win @3 % in winning T | ¢) See &7 T Look up X | T, SSHITT =% L« @@ 741
wtd Look up 92® 27 | d) at dawn Z0d | F179, dawn (TF1/CSI7) R (=T I ©IR 4 <t at I67 |

70. &= IE0 Tw? 7 [@rifie =it s (IDA/ADB Project)-o3]
a) Among my friends he is eldest. b) He is comparatively better today.
¢) He is better than all the boys.  d) He is the best boy in the class. Ans:d

Ii 2) oldest T2 | T, (TN GF2 AT W47 eldest FIZFS 2H | b) comparatively better 97
| 871 comparatively well @931 ©¢ better T | ¢) all the @3 3= all other T |

L

71. Which sentence is correct? [ T WA TroN e AAfinetad AR ARGES-ob]
a) 1 do not know to swim. b) He told me a fool.
€) A drowning man catches at a straw. d) He said a lie. ' Ans:c
| a) to swim <7 %0 how to swim %4 | b) told @3 %A called 203 | d) said 97 T told TR | _I
72. =W T o%? e eyt e (GTee)-ov]
a) He cannot pronunciate the word. b) He appeared at the examination.
¢) Tuhin is my lovely friend. d) You always offer me many good advices.

Ans:b; a) C® pronounce & | F1E9, *[a TwEY F4l FAte pronounce IRFS® W | pronunciate
a%fG g1 “% | ¢) ¢ loveable 2w | d) advice @4 plural T 1 @3 @7 7t many P 1 |

73.  Choose the correct answer, [RU 08-09, fafes srgeiieny/fem/afimed (afere wfeei)-v]
E_a) Idle 'man cannot prosper in life. b) An idle man cannot prosper in life.
€) The idle man cannot prosper of life, d) An idle man cannot prosper at life. Ans:b

AT APTE JACe The +adjective, Alan + singular noun, A/an +adjective + singular
noun, plural noun/adjective + plural noun 94%® &% | The idle cannot prosper in life. An idle
man cannot prosper in life. Idle men cannot prosper in life.[werT afE e Safe wace A1 )

MASTER @

CamScanner



https://v3.camscanner.com/user/download

74, Which of the followin
& sentence fs ST 09-10
a) I watched the Star fa]|, B T orect? e, ;

A b) The commi i its of the proposal.
©) Many a man were Present h) mmittee are debating on the merits prop

) If
Ans:c ; Many a @ sz noun g3 ye ) If you had come, I would have gone.

~ = tb 1 singular = o1 | o172 were a7 ¥ was/is TJ |
. ) The news is ::? ; reet o
-, (&
\ b) He gave me an advice
Tl , : . g
- q::dvlii :Zl:ll‘;;tcc l?ave 1ssued its report d) Ten kilometers are a long walk Ans:a
oL ¢ b A Piece of advice g7 | ¢) have @ %% has 727 | d) are @7 '
B is TR |
6. N IW/G
7 bl ) wa? [erefirs szt forpe-o3]
a) There is no furnitures in my room.

¢ ) b) Mangoes are comparatively cheaper toda i
c) Neltllel' of us was present, d; I do fr;not take fruifs. : > An);:c
a) fumltu‘res T fumniture 7w | b) comparatively cheaper = gz oy cheaper w4t
comparatively cheap =t | d) fryjts T fruit I | 4wy Sl 4R fruit (F91) @7 plural 2T
77, PO GO 1 %7 (et corrats arefom e e (PrE)-33, oo TaeTercas St.rear faorre-34]
a) TlTere 18 1o place in the bench, b) I got two bread.
©) It is a nice poem. d) T went to my house. Ans:c
Y & F 1T TR IS room 7S 2T |
3 | d) e Afere arear =12 1 went home 23 1
[GREFSTE (et e 7zl fres (Fres)-ss)
a) Quote this from memory. b) I got boarding and lodging.
©) Put your sign here. _ d) My father is sick. Ans:a
b) board and lodging =3 | ¢) signature = | d) sick @7 F=T ill 71 |
79. He said me a fool. Which one is correct?
a) He said me fool. b) He called me fool.
c) He called me a fool. (i) He said me a foolish. Ans:c
FTECF (FICAT 6 I AT F1 @RS call 9927 27 77 @R complement (noun) I 432 TR s
a W41 an 7 | (@F: He called me a thief/ a fool /a coward. &1 Mt oot/@ret/<mrozes <= |

a) no place 9% T no room NI | TR, 90, 70,
b) two loaves ==Y two slices/pieces of bread
78. o7 o IS vy

[TU () 10-11]

80. Which one is correct? (4T® (SAT FTACRT T (3) [RU 06-07, IU (C) 16-17]
a) There is no place for doubt in it. b)‘ There is no space to doubt in it.
¢) There is no room for doubt in it. d) There is no area to doubt in it. Ans:c
81. Choose the correct sentence. (4 (% (I TR ST (73) [nU (C) 09-10, IU (B) 13-14)
a) There is no seat in the bench b) There i's no seat or-l thi§ bench
¢) There is no space on this bench d) There is no room in this bench. Ans:d

-

I @AY/ 21, FrAre, WG qv STqe witd room 99F@ FW | (room for improvement, doubt etc.)
There is no room for improvement in this post. 42 *t7 TS LA JaA™ @R |

: [KU (et ereateer @ emgfefmn 5e1) 10-11]
82. Identify the correct sentence: | .
a) He got broading and lodging b)l He got board and lodging |
i:) He boarded and lodging d) He was board and lodged Ans:b
@ IFTE @S board and lodging (7fer) T4R® A | _
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97. = v F3T? (e et g
R) Sohel is taller than 1. b) Sohc.| is tallgr then me.
©) 1 did not think it was her. d) She is out of her danger. .

b) then @3 ¥ than €A | ¢) her @3 ¥4 she A | #1394, be verb @3 *Ld subject form T

d) her a1 a1tz | e, Revge s out of danger T3%S 2 |

OR. Fuew cat AT Wy s —
) There is no place for doubt. b) 1 went to my house. ]
¢) All passengers must show their ticket.

d) He called me a coward. Ansg
a) place % ¥ room % | b) went home 3 | A, AfG Areat s go home%

90, Tt e T Lo €1 e oty o
a) He is my elder brother. b) He went for the examination.
©) It is raining for three days
d) He was bitten by the snake while walking in the garden. Ans:,

b) went for @ %= went in for/sat for 23 | “IAr=T c7am WCd go in for/take/sit (for)/appear at el
C) is raining @ ¥ has been raining T | d) the snake 9% 37T a snake 7 |

100. =l we Iy [T 21 o (-
a) It rained for three days. b) Grammar is better servant than master.
€) He is my elder teacher.
d) While he was walking in the garden, a snake bit him. Ans:d
a) has been raining 23 |1 b) a better servant than master R0 | ¢) teacher 9 T brother T3 |
101. Fooe &= Tt oy [emafiras e firess (ft)-on]
a) We write by ink. b) An Akbar is not born in every age.
¢) More he gets, more he wants.  d) He got the work by doing. Ans:b

a) in ink 22 | ¢) the more---, the more -- 24 | d) by doing «= ¥ done z | IR, T fog
w4 =T have + action receiver + past participle I79%® 271 Have it done, (45T FA1e)

102. e = 2=l oy [efis szt s (fowmi)-do]
_‘) I do not take fruits. b) I have no appetite in food.
€) He gave me some good advices. d) Neither of us was present, Ansd

a) fruits 9% 201 fruit @a | ) appetite for (F47) 27 | ¢) advices 93 30T advice T | IRV,
advice, luggage, information «ar uncountable noun ©13 gy plural 27 =1 |
103. oM @@t wgp

[emefiis szt firss (Tg)-ov]
#) Sharif absented from the college b) Selina prides on her beauty.
€) She is out of her danger, @) Sharif absented himself from the college. Ansd

a) absented himself &t | |) prides herself on/prides in 23 | SR/ war w0k pride (oneself)

on/upon 944l pride in/take pride in Tr9ge 2y | ¢) fove s out of danger T |
104. fawwa com aref wgy

[efire arre firws (3fierer Ror)-oV]
'p) Bread fand butter are necessary. b) Rahim is not so coward.
£) We write by ink, d) Have you not finished the work yet? Ans:d
a) are 99 ¥4 js otq | b) cowardly wtq | ¢) by ink @7 9% in ink 27 |
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j05. PoT R TR owy

‘ She told me that she wi

she wil) ¢

2 They went back afier we a‘r::;'rmmxw
That was a sli '

a) would come %ta | "E'S{%.if’:a\?¢; WMy son is ill all this week. - Ans:c.

d) has been ill T3 | R sy o Adartived w17 ) 24, past indefinite + after + past perfect tense

e e . -

& cpn .
T b L _TT‘F""_’I_"._”‘S present perfect/perfect continuous tense L1

S . (et st o (51t FE)-o ]
2 ?:;\:Ezmr lli,d 10 her mother. By 1 was not at my home.
) chmf»led mﬂ t ;:hcd s, Qﬂe reached at Sylhet. Ans:c
:cnc{:|1blc reach ('a::i | ';) almy home @7 %77 at home ( xfers) 277 | d) reached Z74, at a7 |
. . VC L) 4= transitive verb #13 arwa #7243 obj -
- T1R aTHve t 731, preposition A = |
7. ot S — v 2
10 - [erefiras st formes (71 FrsmoT)- o |

(s e s (afiora Frer)-ov ]

#) No pains were spared.
€) He caught my hand.

@make A NOISe TA | ¢) caught hold o
108. W I var

a) Inform the aCC?dc:?i to him. b) He succeeded for winning the prize.
©) I could not do justice to him.  d) I sold my furnitures. Ans:c

i.a) Inform him of the accident Z | b) succeeded in @@ d) furniture (singular) 22 |

109. mmm (2t e forwes (530 frenT)-ow |
a) He went to his house. b) Put your signature here.

e) Rasel only is reliable. d) He told me a liar. Ans:b

ra) wenthome T2 1 c¢)only @3 ¥ alone a1 d) told 9% 7% called 722
110. Fwe @@= TEl var (275 2 formas (w1omT)-03)

b) Do not make noise.
d) We shall walk on foot. Ans:a
fmy hand =722 | d) (75 mrant W2k go on foot 07 |

[ e forwes (5T fasmr)-avr|

a) He gave me some advice. b) Anwar requested for my help.
g) | am very better today. d) He took nap. Ans:a
b) requested 272, for W A | ¢) very better @3 %0 much better T 1 d) took a nap T4 |
111, fwe @ 7@t @ (2T 2 forwas (BIFoTT)-33]
#) He denied to help me. b) The doctor feels the pulse of the patient.
¢) Honesty and truthfulness ar¢ necessary for happiness.
d) He along with his friends have come. Ansih
'a)refused @ | c) are 9% ¥ is €A | d) has come €4 |
112. e cow aeft war (4T 2 forwes (1e)-on ]
@) His brother is sick. b) I took my l}}eal.
¢) Do not throw the milk. d) He ook offence at my words. Anad
l’i) sick @a %@ i1l 264 | b) had my meal €4 ¢) throw 43 41 spill (991 *ad @it (@=l) T |
113, cm aeft oar [amafie aum fores (STwe)- s3]
#) It is raining for three days. b) You are an Hercules.
¢) We write in ink. __MJ) He got the WOfk' by dfung. Atigre
[2) has been raining @41 b) # Horcules €1 d) by doing & ¥t done 2 |
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114. Rwsw im0 wer (@i atut= Fires (CoTeMeD)-o, mﬁvm%
a) He cannot pronounce the word. b) I saw his pulse. .
©) Tell me where are you going. @) Dog is a faithful animal, j Ans:y
b) felt T 1 A& orat =t feel one’s pulse =¥ 1 ¢) Tell me where you are going. d)T,
dog is a faithful animal. we=t, Dogs are faithful animals. 23 |
115. R @ I vw? [mﬁwamﬁrﬁas(mw)_m
a) He requested for my help. i)) Time and tide wait for no man.
©) The ship with its crew, were lost d) The horse and carriage is at the door. Ans:g
a) requested T, for IW 1 b) wait 97 F0 waits 269 (Wren & Martin) | ¢) was lost 27 |
116. Fosx v Tl way [ <t BT (a0
a) One of my friends are a lawyer. b) It rained three days.
©) Do you have a complain against me? d) You are proud of Bangladesh. Ans:d

a) are 9% ¥ is I | F29, One of + plural noun + singular verb b) rained @9 3 has been
raining ¥ | ¢) complain (verb) €3 ¥ complaint (noun) ¥ | article 9 *T& noun 07 |
117. Ross o IS ey [eefiis et o (arereR)-op]

i} He was too clever to grasp the point.
b) Scarcely had we started when it began to rain.

€) Why you have done this? dA gold is a precious metal Ans:b
a) grasp ¥ ¥ miss R | ¢) Why have you done this? 21 | d) A gold 93 3= Gold T= |
118. == 3= wa? [mfirs TP s (T -ob ]
5 There is no room for doubt in it. b) I found him write something.
€) There is no place for doubt in it. d) Find out the word in the dictionary. Ans:a
b) writing 2 | b) place 93 FTT room (IIFI, TN 204 1 ¢) Find out @9 3= Look up 23 |
119. &= &% =77 [erefir s v (4651%)-o )
a) Where are your luggages? b) Can you give me an advice?
€) What beautiful sceneries! d) What an awful weather! Ans:d

a) Where is your luggage? 23 | b) an advice 9 T a piece of advice 23 |
c) What a beautiful scenery! zt3 | 3, Scenery R uncountable noun 1% 97 plural ZI 7 |
120. f5oe @ Mt o2 (e szt frws (Roem)-o)
a) Grammar is better servant than a master.
b) Grammar is the better servant than a master.
€) Grammar is a better servant than master.
d) A grammar is a better servant than a master, Ans:c
AT Grammar 2% abstract noun o1z qq ot¥ article 91 7 |
121. cwft o A [ THAT e Fofare-o8, enefirs TR o (79, TECATT CO0T)-30]
a) There is book and pen on the table,
b) There are a book and a pen on the table,
€) There are a book on the table. d) There is a book and a pen on the table. Ans:b
a) are a book and a pen 27 | 319, a book and a pen TR plural subject @12 verb 6 plural w4
are XJ | book, pen & common noun 1% 9o 7t article (a) ¥R c)isTR 1 d) are TR
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122. @9 AT vgy

ﬁ She i.s A person whom I know is sincere,

p) Shc_ls a person who 1 know is sincere

¢) Tuhin is my lovely friend. .
a) whom 9 T who T3 | 3=, 11537 fin
subject 9TVl TV AT who 7T | ¢) lovi
123, (I OF I[297

a) Every girls is at her desk.

¢) We made fun of it.

[enfirs FrEit FomF (FTMOT)-50]

d) There is no place in my class. Ans:b
ite verb ST subject T e @rweer whom S

ng WA 1 d) place @9 ¥# room A |

B [enaifirs sz fres (fat)-30]
l)) Credit this amount against his name.

; : d) A little number of boys were present. Ans:c
a) girls 9% T girl T 1 ¥, Every + singular noun b) to 23 | @@ISTG/AICT Tt w41 g credit
to TI | d) small number =3 | T, 37 Weas e number @3 ST small 6, little/few 0T =1 |

124. ¥R A wwr S —— e R
a) I feel hungry.

¢) I am a man of words.

b) I feel myself hungry.

d) The sheeps are quite healthy. Ans:a
]b) myself I T | ¢) a man of few words (& T 1e) 2t | d) sheep A |

125. @WW (C’Tmmﬁswmﬁcqﬁswmﬁa) [etrefirs St forwas (2w, BT (6T)-d0]
a) He shouted in the top of his voice. b) He shouted with the top of his voice.

¢) He shouted on the top of his voice. d) He shouted at the top of his voice. Ans:d
b) T A=, e, ger, MEReqrs e at the top of T7® = |
126. (0 w& IFT? [ STt fress (¥rae, IREIE! BT)-S0, G (@o73: enfiis T firsss (S1)-33]
a) There 1s no place for doubt in it. b) There is no suspension in it.
¢) There is no room for doubt in it. d) There is no misunderstanding in it. Ans:c
(Rrere STwrey UITCER T) T FI, FGIRAT, M, W13 =l room VIZ© = |
127. fmz == It wa? [@f: e amfivs st e (ne)-33]
a) I took my tea at 5.p.m. b) He refused to help me.
¢) Keep it on the table. d) I saw him long before. Ans:b

a) took @7 7T had =02 | ¢) Keep 99 e Put 3 | 1, Put 206z WEA S I T keep TR
7R 711 | d) long ago T | 14, simple past 4 long ago &1 past perfect @ long before I

128. Foow e T @%? [ cara: efi wEd frwss (er)-33)
a) Put the book on the table. b) The examiner saw my papers.
¢) I feel some better. d) He is not in the committee. Ans:a
I b) saw <= Zx1 looked over T | ¢) somewhat better 2 | d) on the committee T |
129. oo o= 2 o7 [cafer: @ R TR forws (TIITE)-33]
a) I had a strong headache. b) Asad alone is reliable.
¢) His head was even. d) He came today morning,. Ans:b
@rong 97 207 bad &4 | ¢) even 49 e bare ¥ | d) this morning (S AT X | __'
130. = ww a7 [emefirs s férsas (T -33]
'a) He dares go there. b) I came in when he was writing.

¢) Matin is good than his brother. d) The police were informed of the matter. Ans:bd
2) dares to go 20 | ©( dare not, How dare you + base form  ¢) good &% ¥ better T |
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e A R S

D — —— S ——— v wre® Srew v o
13 (e ey vy * )

B 1 forbade b to go B) The moon shines by mght.
8 Dxd they wrote the book” #) He stopped to write letters to me. _Ansa
B 3 maght (W) T ) wrnte £ T write €€ T, do'does/did ¢ subject + base form | ,:
é e e W ctop 'wan Tinish ¢ ind (verb ding)
N T
8 He came this maming b) Asad is sick.
8 ol me a bar. @) Put your sign here. Agsl
Tloc e yT e o) told €T e ullcd‘t’—'“d) sign €¥ ¥ signaturc Ll ’
111 Sow s el e lﬂ""""""mu]
B He gave me a prece of advice. b) | went to my house.
' He applwd for freeship. d) The meat is hard. A“‘i
S D wen home TR ) freeship €2 W froe studentship ¥ ' d) hard €% ¥ tough =%
1 e Tetww [ el e T

8 | fec’ umwell. b) I took a bath.

8 | 2 somewhat sure. d) 1 sold my furnitures. Ans:a
= 1ok €T T had TR o) somewhat €2 ¥ pretty TR 1 d) fumniture TI ¢ i
35 SR esTstw (aﬁvﬁﬁ—ma]

8 The cart was laden fully. a Your information is false.

8 Lasen 10 my advices. d) Who brought these news? Ans:b
- lader €7 T loaded T2 ¢) advices €% T advice TF 1 d) these «¥ W this T B
36 S em TES ey (Mwlﬁ-umm

#) Good might, how are you? b) Ali took admission into that college.

ﬂucasmc'ﬁcu‘)cn:dxdlgo d) He always speaks the truth. Ans:d

¢ Good ment £2 T Good evening TR | 94T f7w o==2 ¥%¥ Good night I3%T W !
5 g homse'f admmmed nto ¥ ¢) He asked me where | went. T3 : wh word TWs® =%
waE TEWIE sssertive sentence ¥ 1 Subject ~ verb + Wh word + subject +verb +extension

i
£
!
i
5

3T S o Twt OW? (Wﬁ&nmw}'
#) Abshan s better today. S)Thcbusscn'icchasbctnmdlcddtnmfog.
€ | beve s lot of furnstures for sale.d) He prevented me to go. Ans:a

D) duc w0 £T ¥ owing o TR ®2%, due to T be verb €¥ ww | (xwa: Myabmnccwasdue!o‘i
my ilimess o) furmitures £¢ ¥2% furmiture €72 1 d) from going 0¥ : prevent (sb) from (doing) |

|38. ﬁuwaw-‘wr ;mn‘wmﬁwmme]
#) Two-thirds of the money are lostB) | am senior 1o you by three years.
8 Whom do you thupk | am? d) He thought it will rain. . Ansb
&) are €% W is WR ¢ ©) !Lh_ui]_lii € Who 2 1 d) will rain £ o = would anea ‘d‘
135, o= aeils o) e mwtﬁw(ﬁm Mﬁ
B She 15 always fond 1o talk. B) 1s today’s film worth seeing?

Vasied b if be 1s gowg. @) It has much  Bot in the summer.  Ansb
f‘i_f of talinng I'E!A'. €) 15 going &€ ¥ was going @K ¢ d) much hm 1 YB‘V vm‘y hot m ‘j

S —————
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130, @ T %y T ———
[ermeifim sz faws (iﬂ"'ﬂa frerr)-o%)

a) | went to my hous “
- y ¢ b) 1 got my food expenses.

¢) Do not throw the mj

m home T | qﬂ]‘; .:T:I’:: ) The tree was loaded with fruit.

| g e go home a72%® w | ¢) throw «a 21 spill T |

| d) loaded @¥ X 'adc“m'i‘mmmw&mm%mmmmumfl den @@ AIAATZA
ade

| . CRCAT T
e mmﬁmloadcdmwl

Ans:b

i1, o AT vy
Rk e _ [WWW(C‘W)'“]
l) :—SUﬂCﬂd fever for a week. b) She found the boy crying
',_,,EL tf: ;\ou :;d .he be the witness. @) Rahim play every day. Ans:b
:l% cen sullenng X 1 ¢) he @3 %=1 him =@ | d) play a7 7 plays T | j
142. ¢ ‘W_ 15‘ Sw? ‘ [emeifi sz forwas (GTe)-33]
a) Matin is good than his brother., b) Why you have done this?
¢) He was too clever to miss the point. d) Your conduct admits at no eXcuscs. Ans:c

a) good @F T better I | TR, T3& U 31 76 @A W g9 CF0d than a7 =t
' comparative form IGT1 b) Why have you done this? 29 1 d) admits of 2T |
143. Which is the correct sentence? [T offira e #4FE-33]

a) He spoke me to wait. b) He wishes for me to wait.
¢) The boat was drowned. d) Two-thirds of it is true. Ans:d
a) spoke 93 T asked X1 FTOE (PITT g +aTe I Wed ask 99%® 27 | b) for W | FE,

wish + object + infinitive (wish somebody to do) c) was drowned @3 BT sank 9 |
[affe's wfert P SETR-ob, 7HH(E TEF JFETS FETET-0b]

b) Yours is the most prettiest hat of all.

144. Choose is the correct sentence.

a) He says good English.

¢) He could not avoid to do this. d) I am quite sure of his honesty. Ans:d
jT)says @7 7t speaks T | RITAT oraT 3T <o &ed speak I W | b) prettiest T3 | T, ¥
 Sr=e=fi® adjective @3 superlative form 4 _st/-est/-iest & A, qTF 7L most IT T | (TI:
 wise-wisest ¢) to do @ T doing T | ¥, avoid 49 T gerund (verb + ing) T |
145. What is the correct sentence? [emafie s feres (s3I RSrT)-0¢ ]

a) The reason of my silence is due to my illness.

b) My silence is due to my illness.

¢) The reason of my silence is a due to my illness.

d) My silence is due the my illness. Ans:b

due to B2 PR (FR SIR G 9F A JI7S W |

a) due to 3 I | FIF9, reason LEH
g wiest a 97 911 d) the 9% T to T

 ¢) due to ¢® due TR adjective w2 due 4
146. Which of the sentence is correct? [ e FrfrTes s e, i

2) One of the boys was absent in the class.
b) Cowards die many times before their death. (SIF1 TR W L W03

¢) He is a famous thief.

d) Only graduates ar¢ illegi
a) absent from 2@ | ¢) famous (faire)
d) illegible (7=127) @9 %071 eligible (¢) A |

ble for the post. Ans:b
9 BT notorious (FTATS) A |
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* ot e [29‘%
mll not — the examination this year. (wifir @ e ) u (") 09

| T
n) give b) appear at € sit ) go for " Ans;;
148. He will take examination. (o1 ”*""‘T.m) d) discontinue o al
n) drop b) give £ appar at ottt Ppp— - Mgy s
149, He was debarred from - the examination. (1% )

[eréry o sfeamoua AEHdl AfEIE-oy, DY aamere-cv, 30 Rowasr (omew ")-h]

& .o
a) taking b) sitting ¢) appearing @) giving Ans,
150. Which of these sentences is incorrect? _ [RU (4) 1814,
a) We are sitting an exam. b) We are taking o iy
€) Students are giving an exam. @) Teachers are giving an exam. Ang;,

IS1. From your (= students’) point of view, which sentence i.s |'|ot correct? [RU () 1929
a) I am taking the admission test. b) I am giving the admlSSl?ﬂ tesl.
€) I am sitting the admission test. d) I am sitting for the admission test. Ans:}
152. Choose the correct sentence. (IR ’@W five) _ _ [NU 07.95)
2) Catherine gave her examination. B) Catherine has given her €Xamination,
€) Her examination was given by herself. d) Catherine took her examination, Ans:q
| (TS T e onar sk appear at, sit for, go in for, take, do I3%® T | Ifre Fa oy
| sits T<TT T (OALD v oryw) Fxg ST TSI IR6EETS sit for ST | e T et sfarem ey

|

| =2 st wEw st for v # 4 T | W (o1 ReT) 1w oTn wed give .|

153. Which sentence is correct? | (e mmm‘“l
a) How do you like it? b) He is comparatively better today.
¢) I prefer tea than coffee. d) I shall prevent you to do this. Ansa

' b) comparatively Im, %4 better 23 | ¢) than 93 FTT to I | T, VTS *Igw a1 W prefer |

il_(noun) to (noun) IRZFE T | d) to do 9T FT from doing I | I, prevent (sb) from (doing)

154. St57 IR 00 % I @AY [aefirs enam fresan)
a) The flowers smell sweetly. b) I am very glad to see you,
€) The novel is too interesting.  d) No one can write as neat as he does. Ans:b

r

| @) sweetly 97 3T sweet T3 | 199, smell 062 linking verb ®1% @7 *Itx adjective =7 | ’
| ©) 100 €% 7 very T | d) neat @7 ¥ neatly I 1 I, write T action verb ©1% «re l

{

| modify #=0e @7 *ta adverb arIgg w12 neatly =g |

155. The correct sentence is — [1U 02-03, KU 06-07, Uttara Bank-08, wnafire sgaift fires.yy, o Rerews .
TE TR A2t “favis (amm) -vo, v ey fafeer werfiruma-yy )

a) We write on ink, b) We write by ink,

¢) We write in ink, d) We write with ink. Ans
I56. I have no pen (to write), (S e g ey 7] (1U 09-10, W ifismers (wnee Rzye-e]

#) I have no pen to write with. b) I have no pen to write,

€) 1 have no pen to writing, d) I have no pen to write in. Ans:a

- PRSIV g
S —

| write with a/no pen e write in penvin pencil/in ink/in chalk, write on paper (in book)
157. Choose the correct sentence: (FIBBT ¢ T dsz

= e et 8 . i g e 440

[RU 008

#) Open the knot _b) Open the tie €) Untie the tie i) Put ofT the knot Ansc
(2o tic 3106 P19 19T ¥TH0R a5 1 TS v fernze st Unticsmre |
\“ﬁ'—'————..._m--. R b g ot e i e it oA A b el A,--T'*“""' s
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< Which one is the correes cos i~ — I
= §) 1 used to get "TOCt Sentence? (g wwm wE s Bbey  [RU09:10]
used 1o getup early i (e morn;i ki .
g | had gotup early in he momin g B) 1 dia get up early in the mormng.
) e N0MiNg. : ; ns:a
AT SO NS e 10 W1V e gy e Bt up carly in the morning. A%
€7 Subject + yced to @7 verh 47 base form ¥¥

ay (¢F (O ¥E I WEw wy oy )
| gm gt used to getting up early i r'“' ™ Subject + getbe +used to + verb +ing TAET €1
c . ¥ 1 the morn; 4
| am not used to smoking drinking ¢ “':i;ﬂ 12 swwm g (v $ITE WEH)
" a ol ——————— ) y e A wEry 73

149, ;elcct the correct schQ-ncE"(“(;,“ﬁrf-—!-;-E R W___m]
He refused my invitatio - '
: " b) He decli invitati
> decli . _ ¢ declined my invitation.
§) He declined to aceept my Mvitation. @) None ' Ans:h,a

“avitation (WE¥), offer (512) sremas -
=2 ! decline/refuse 275 o1 | fay =ars wisw =0

g™ refuse €2 7R (10 + W verb), e srey wRarr we gam deny (For®) arags o0

Te0. Which of the followi
‘ o ev&z el Sew owing is a correct sentence? [15® BCS, »ea® mofas wyw® Srwm_on, €3
| TR (-3, DU(C) 11412, RU(C) 16417, (A) 19-20]

|
‘ He was too clev : . . _ _
| a) €T notto miss the point. b) He was so clever to miss the point.

| ,_,__.g eape clcvc.r o ‘miss the point. d) He was clever to grasp the point.  Ans:ic
| jﬂ\;\'crb * 100 + adjective + to + verb +..... He is too important lo tolerate any delay.
i 161. Sho?se the c‘orre-ct sentence. [ fa v smw o zrafer) [RU 09-10]
| a) Did you give him a visit? b) Did you pay him a visit?
¢) Did you take him a visit? d) Did you permit him a visit? Ans:b
‘ 162. J_dendf)' the correct sentence. [STwa1 o7 AW @owe frufems] (rword wwe el semtor]
2) We paid a visit to his village. b) We made a visit to his village.
¢) We paid visit to his village. d) We paid a visiting to his village  Ans:a
T =2, (@STE W 31 A7 w31 wed pay a visit TGS W |
163. Choose the correct sentence, [CSTI (TSA) T 1 W] [RU 06-07, (BBA) 10-11]

8) Your writing is impossible to reading  b) Your writing is impossible reading.

¢) Your writing is impossible to read. d) Your writing is impossible for read. Ans:c
“Impossible <2 *Z infinitive (to +verb <% base form) 37 | |
164. Choose the correct sentence. [4a1 7aa 3 TR W] (1™ BCS, Rupali Bank-10,

ey TETETEE 7L +fseE (W2H)->9, RU (E-T%) 14-15, NBR &3 weerd T wiad e, arE-ays

yred Sz (_m#5.)-5¢, KHUET 15-16, DPE 7&@1d forea (38)-3v, 0 whiewera S wore- v

a) The rich are not always happy. b) Rich is not always happy.
¢) The rich is not happy always. d) The Rich are not always happy.  Ans:a

165. Which is correct? [#3ra1 ¥8 oM %M W W] (1U 04-05]
i) The poor is born to suffer b) The poor are born to suffer
: d) Poors are born to suffer Ans:b

¢) Poor is bom to suffer 7
166. Which is correct? [« AA] [1U (%) 04-05, “feara ey swgs wies Al /efwBtn Wemase-)

b) Pious (&) are happy. RU (v3fTr=) 06-07
d) The pious is happy, Ans:c
djective @@ plural € # [®8 The + adjective

a) Pious man is happy.
—_— ¢) The pious are happy
"Adjective @@T@ verb 4 subject &€ A 7 4t a
‘ W21 way gefers caray Ata @@ plural common noun 1 93 93 A4t plural verb 307 )
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wwand D BOOME (nafyy
167. Choose the appropriate alternative: (DU (B) 07.98.m f":::‘ RS twi((:c D)t}
) | already twice have read this book. Iﬂ I haw'fc alrea ylm'd s i bOOk' .
§) 1 have already twice read this book. __ MJ,‘WL‘?&E%;;;—;}XHMW o ns:h
| Present perfect tense @ already, never, just venv advcrh Uil s
principal verly «a WTa 707 He has just gone out. Mithila has ch(‘:r :’ pte m |
once, twice, thrice Tenfi adverb of frequency . nmrare senfence _.m S
168, Which is the correct sentence? (DU (1) 07-08, Jnt) (8) 09-10, =XTRTT
B) 1 wish I were in your shoces,

#) 1 wish 1 was in your shoes. :
' r shoes. -
B 1 wish 1 gotinyourshoes, M1 wish L gets IRYor PE% o nwh
T wish A T were in your shoes, (%I wf# cora i o) afb @af i : .“U L
169. Pick up the incorrect sentence. o 1)
#) Bacon as well as Shakespeare were dead. B) Wait until I retu
d) This road is shorter than that Anea

‘ The ship sank.
as well as @z <tde subject NCA verb T faumm were 99 “Afgare was 707 | :]
. [1U (G) 10-11)

170. Which is the incorrect sentence?

#) He sat before me.
&) She is pood at drawing

b) The carth goes round the sun
d) He is suffering of illness. Ans:d

suffering @2 *t@ of @ f#3T¢ from A | B, (AT (S wtd suffer from 774G 207 4% |

171. Which is the correct sentence of the following? { [RU (w431%) 05-09)
ﬁ Hot and cold are opposite. b) Hot and cold are oppqs:tes.
) Hot and cold is opposite. d) Hot and cold is opposites. Ans:b
Source:Oxford Advanced Learner's Dictionary ( g™ edition) 4% opposite (n) 4 Crezall egw wE |

"Subject @ T and ¥ 52 WM noun Y% T ©LA verb f plural Zr @ae plural subject 47

" complement % noun z# b6 plural Z | Sumon and Motin are cousins. We are friends.

172. Which of the following sentences is the correct one? [RU 07-08]
8 |1 feel some better. b) I feel somewhat better.
&) 1 feel to some extent better. d) I feel some sort of better. Ans:b
' somewhat (adv) E01 wd 77%T 2 | erE O w1 fgh! e e #2afz |
173, =ls o% T3 [efire e forsss (5121 fremn)-o4]
#) | feel somewhat well. b) They are united together.
¢) He is sick of fever d) She did not confess her guilt. Ans:d
'2) comparatively/fairly well 222 b) together @™ c) sick of @% 7t ill of @7 d) confess (to) T=
174. Find out the correct sentence. [zt favars “fais-oo, are-amfi s fres (omw7)-38]
#) He succeeded to get a job, b) He is suffering from fever for a week.
¢ Guard the children against bad company d) The train is running in time. Ans:c
e a) succeeded in getting 207 a) has been suffering €@  d) running to/on time A |
175. Choose the correct one: [errrey endtem wfrgn (afBabe)-v)
#) He .is caught of flattery b) He is ill of flattery sick of- &T%
€ He is sick of flattery (¢ cermcanea faaw)  d) He is angry of flattery Ans:C
176. === there? [0 fa (o oy visfenr) [RU 08-09, 1U (C) 16-17] :
, #) V‘{as anyﬂ?ing occured b) Did anything occur |
| € Did anything occurred d) Was anything occur Ans:b ‘
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177, Choose the corre
wesil favme. ., K1) AL20%, 1y
Rahim ate almoy |I|c' i

B Almost Rahim ate 1y,

almoslt (ncmly. llhmvll.‘llpplnx

w1t A0 Safik ate

178. Which of the

INTETES—————————— e

IO, JUST (00) 10011, R mrvm mamed) alon., s 5.
while 'I:;l'd. MISTU 1) 15 16, ISMUSTU D) 16:17, RU B 19-20]
whale fj " b)Y 12ahim almast ate the whole fish.

YROle fish. ) Rahim ate the whole fish almost.  Ans:a
mately, st etm adverty ane off aticle 4 (adjective) + noun 6%

almost 1he ]
0N (he Whole jackfruit, («fis am g AT ourm oemimt) (10 1 1314)
r""“Wlnu 'en'“ - . -

Csentence, [y

“ y neey |. é‘ P e tmtt—
Time anc _— wreet? (I 0910
gl i ') | lldlc Walls for nope, b) Slow and steady win the race |
Ather he or his brothyer ' o ° race.
e e, DT OINOT 8 gui .
) WAaIts 97 ¥ wait 204 1 Iy o puilty. d) I, you and Habib are present, Ansic

D) win @z wom wing v 1 d) 1, you and Habib @2 271 Y ou, Habib J

CWUR 123 ane ey wam cwin 23 forgw 2pnee epn avs )
B The matter was inform n ; il ll(.:s. - 8-08, SUSTOT-8, .ot vawt s (oo ;'l
&) The polios was lafor L‘(j to the police, b) The matter has been informed of the police.
B Actlve: We info d"C of the matter, d) The police were informed of the matter,
The bolice € XX o} rme l.hcm of the result, Passive: They were informed of the news, |
po plural verb 21442 2y | The police have not arrested anyone yet. -
180. Choose the correct sentence: et e e o o

) You look (DU (1) 99-00, KU (25w Gy, 1L (Gy11-12]
you know a lot of people, b) You claimed you know a lot of people.
£) You thought you know a Jot of people.

r= d) You scem to know a lot of people. Ans:d
| O RET A AN T (FENE) e seem + infinitive (to verb 47 base form) #j#ze ©% | ‘
' You seem to know a lot of people. e on yfa apz omars o |

i

I81. Choose the correct sentence. (47fs wa g7z1.8, woah amn fom wurs. o, o sywmwmes wigr

Gfeffemra avdit (a1s-2)-08, 1U (5) 04-05, (BBA) 11-12, BSMRUST (F) 12-13, JKKNIU (%) 15-16]

A) Your mistake hold this view. b) You mistake in hold this view.

€) You are mistaken in holding this view. d) Your arec mistaken 1o hold this view Ans:c
FW? e fay ware o wae and subject + be verb + mistaken + in + gerund (v+ing) + ext.
' You are mistaken in holding this idca. 7 a 4wz c¢1me 20z g #ze | ]
182. Choose the correct sentence: (1% #2172 =fa & =« ez Wz 272(9o=] (DU (D) 08-09]

a) | camned nearly a hundred dollars last week.

b) | carned a nearly hundred dollars last week.

¢) I earned a hundred dollars nearly last week.

and | 203 | wa, weg

— NS —

nd A 1_11m A
179. Choose the correct sente,

d) I earned a hundred dollars last week nearly. Ans:a
LStructurc: Subject + verb + almost/nearly/about + object {aticle + (adjective) + nounj+ext. |
1%3. The correct sentence is - (&1 b"'r-ﬂ' 104) [NU (fem) 09-10]

a) He wears glasses b) He wears a glass

£) He wears glass d) He wears a glasses Ansa
[ vt wrd plasses W441 a pair of glasses A4GE € | e J wear gl»asscs ior dri.ying. !
124, Identify the correct sentence. o : : [BRUR 09-10}

4) He is wearing a sunglass. b) He is wearing a pair of sunglasses.

¢) He wears a sunglass., d) He wears the sunglass, ~ Ansib
"1 oo oy ferara AyaGe o1 CAa 44 pair of 404 | ara: a pair of shoes/pants, “‘i
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e o s e i imcorreet?  URKNIU (™ 1617 BRUR ()

Are v o thie cormittee” What'¢ the time by your watch?
="f reperted of his sction Fach of the boys | haveapen. Apg,
“Finch of Fither of Neithes of Everyone of * plural noun * singular 3;3'1 * extension
4% Which ane of the Mn je not gnmmaﬂcmv correct? It Dy 111 ”‘
| @hook him by the hand ) 1 have a piece of business.
:“'ho'r Rangladesh moumed hie death . He i a perfect | administrator, Asn: __Anse

Ot e wa ) The whole of ¥o® e= 2 nummcdrmm»mmmfm’over-mn

wwre v avwre W the whole of oth ®7E® 18 The whole of Rangladesh = (Everyone in
wa

Rangladesh) mowrned for hie death eNTeg STETCS T YPTE (N o

187 Mdentify the correct sentence. [chﬂlﬂﬂ] [RU (BBA) 09-10, IU (A) 101y

---—-.——

. It ix 1 who is responsible for the mismanagement. mt?)cc' e L
. 1t 1t 1 who am responeible for the mismanage. @ It is | who'that %o w
B 1t 2 1 who am responsible for the mismanagement.

. It i 1 who has been responsible for the mismanagement. Ans:c

ovrr. who &% =% am #@ =, Relative pronoun *#«8 verb & o o ® Antecedem
we tr - elve, the €2 *T® mismanagement TR | IR, article €% *T% poun ¥TF | A t

185 Which of the following sentences is correct? [BSC Semior Officer (ITICT-1%]
8 He stanted at six of the moming. b) He started on six at the morning.
8 He started at six in the momning. d) He started on six in the moming. Ansc
@y s wv gt 72, at 6,30, at 10 o'clock €% the moming ‘afternoon evening &3 W% in WX
130 Sow e Tl vy {EEs e Srww ST L)
B Suffice o say, heiswrong ~ B) Lake Chilka is in Orissa
8 See the word in the dictionary @) There is no place for doubt i it. Ans:h

2) Suffice it 10 say- % <¥FFTT e (x/<B T WwE; ¢) Look up-*% (¥ d) room (YF, wEE) |
190 tae cenls TeIls O%?

[T e fews (w3

B He got the work done. b) A Daniel has come to the judgement.
8 He went to his elder. d) I have read a poctry. Assia
i b) the @ wie 9% jJudgement T2 ¢) elder brother/sister  d) a poem a piece of poetry i

190 Which of the following sentences is correct?
B That shurt which he bought is blue in colour.
B The shurt that which he bought is blue in colour.

{167 BCS, et meenld frew (30 cwn, 28)-00]
(KU (BBA) !5-16]

o (% wre® el

8 Which shurt he bought is blue in colour. A3 e Srer 2R

8 The shurt which he bought is blue in colour. Ansd

" Antecedent - Ad_;au\c clause wrerfe @n | Sree Amc\’:&;’;\l il 4% nmd»e Lie EamE

that @@ which #%=% Relative pronoun famsre srenvife ani . _,--'~

192 Choose the incorrect sentence. i
= She was mamy with a nch man. . ¢ doctor cured the patient oy

i The patient died of cholera @ He will succecd inhis life Aps:

ot . iR |

| miarry uu__l_liﬁi’!mmarnodwlfﬂdiﬂ memi«v& iwr«mwﬁmedwmwl )
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A1 Choase the Correct one. ek . -
l B 1 hall know hi TN [N eRe woew e o ) [RU (English) 09-10]
& 1 am knowang '::‘:\:r\: long time, BJ 1 have been knowing him for a long time.
e W XET I v s long time., @) 1 have known him for a long time. Ans:d

m “ e e s a—
e S ; TUNR NS W @R verb @2 present perfect fense T 1 know
194, dentity the correct S ora long time (period of time) wioe fere present perfect T |
‘ { Sentence, T IDUD) 0102, TU (9 304, RU 10-11]

She ster fi
g&‘}c :-::;l‘:‘: :‘:‘;: "fh“‘ every day. b) Both sisters fight each other every day.
hts CSISterevery day. ) Every day she and her sister fights. Ans:c
195, Which one is correct? [ g y Ga) .
'Fearn\‘.\km\\'hurl S v O R S PALOBES
B Por™ hcn‘ ““_"d tremble me. i) Fear makes me tremble where I stand.
I stand makes me tremble fl) fear makes me stand where I tremble. Ans:b
19, Which of the following sente i 2 : ) : -
B The pile of bonee o nee is correct? (DU (D) 10-11]
B) The pile of'bo s on the plate shows how much chicken the family had ate.
8 The pile of m{‘:;s on the plate shown how much chicken the family had ate.
@ The pile of on the plate showed how much chicken the family had eaten.
¢ pile of bones on the plate is shown how much chicken the family had ate. Ans:c
197, }}_Nch of the following sentences is correct? (DU (D) 14-15)
8) The two parties have different views to democracy.
B) The two parties has different views of democracy.
g) The two parties differing on democracy.
ﬁ The two parties have different views of democracy. Ans:d
198. Which of the following sentences is correct? [er-emefis s e (YT O)-de]
8) Over a billion people using Microsoft Windows Operating systems. (DU (D) 14-15]
b) Over a billion people uses Microsoft Windows Operating systems.
¢) Over a billion people use Microsoft Windows Operating systems.
d) Over a billion peoples use Microsoft Windows Operating systems. Ans:c

199. Which of the following the correct sentence?
[BU(A.O) l:-lJ._ﬁfo‘s‘n(cmmm)-n.mMﬂw—u]

2) He has said that what is right. b) He has said which is right.
¢) What has he said is right. d) What he has said is right. Ans:d
200. Choose the correct sentence. [FT =ifFa¥ 51 FCT BV (¥ 7] [RU (F) 15-16]

;) Unless you do not work hard you will fail.
b) Unless you will not work hard you will fail
&) Unless you work hard you will fail

d) Unless you will work hard you will fail Ans:¢

Unless ~present indefinite (31-GT), future indefinite (present indefinite @ Reified} {3fe)
201. Choose the correct sentence. (ST (A-(N0 GID! IF *FEER (7 WEAE) [RU (E-co19) 15-16)

5 Each boy and each girl was given a pri_ze
b) Each boy and each girl have g}'ven a prize
¢) Each boy and each girl were givena prize
d) Each boy and each girl are given a prize

Ans:a

'Each/every/no singular noun and each/every/no singular noun + singular verb
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un( 1617, mlmmw,
' I cannot bear separation (o you
i) | cannot bear your separate Ang:c

202. Choose the correct sentence.
. | cannot bear your separation
' | cannot bear separation from you

203, Choose the correct sentence. (3% wste & sl sy wawsry o18) [RUCE, &) 15.14)
W) You don't need to come unless you want (o, ’.'" N :;':' .

B You come only when yvou want to. don't "l“" . b':gﬁmm'

8 You come unless you don't want to. ROSU= eAform

ns:a

@ You needn't come until vou don’t want to.
204, Row e el s ) [ e frws. o)

# Walking in the garden a snake bite him. B) Grammar is the better servant than master.
i) He gave the examination. Ans N

' It has been raiming for three days. g
- Y took - take- T oAt give- T G l

_ &) he was bitten by a snake b) a better serv am_‘tbld)__lnok B
205. Which one is the correct sentence? (remd® wfirn sred from (R wer)..y)

ﬂ What 15 the time in vour watch? b) What shoe size are you? (csma e ’ﬂ:' 57)
€ What time it is by your watch? @) What are the sizes of your shoes have” Ans:b
a) by vour watch T 1 ¢) What time is it by your watch d) have %)

206, R =t el vy [arfies e fores (aTTafonaT). )
8) She has got cent percent marks B) You are a great thief
&) Time and tide waits for none @) Has he got the information? Ans:d

) cent percent marks €2 ¥ full marks, b) great ¥ ¥ notorious (F207T), ¢) wait TA |

E“. STt ve T ) [WWWM}H]
B | am feeling unwell. b) The sceneries here are very beautiful.
8 Lot vou and | do. d) Let you and me do it. Ans:d
a1 am feeling €2 ¥ feel, b) sceneries here are 9% ¥ scenery here is, ¢) | 4% ¥ me ¥ |
20%. Choose the correct sentence. [fraoitn 3 33 = By wilie-se]
i He discussed about the matter. bq)' He knows to swim.
8 He says me a fool. d) He shook hands with me. Ans:d
a) abour ¥% w7z, discussed the matter ¥ b) knows how to A ¢) says «F T calls T
209. Which is correct? [W32 T€F I G 1) [ e (adn et G (). o]
#) A Akbar is not bom in every age b) The Akbar is not born in every age
£) An Akbar is not bom in every age d) An Akbar is not born in an every age Ans:c
FE W LT THE £ 74 proper noun 9% WITT a/an 307 1 Akbar 9 TETE vowel ©F1 ¥1% An
210. Which is correct? [¥f aieemmr=a o] [ Fegrenm cawdy weordt “fevms (2erw)-ye]
#) You are u pride of Bangladesh b) You are pride of Bangladesh
&) You are the pride of Bangladeshd) You are a pride of the Bangladesh Aps:c

the pride of somewhere/something- (#1571 ¥ITAa 41 (@I fega 914, O WS < g T CUIETD
s e o s Ay oare vl w181 The new sports stadium is the pride of the town.
211, Choose the right sentence, (1 fexl g5ra9 care) o {’m\vﬁ Govrer i Furwt wieoTs-2¢]

#) He it @ boy of three. b) He is a boy of three years old boy.
8 Hes @ boy of three yearsold.  d)Heisa boy of thice years age. Ans:a

..-—a-rv"‘"'}

¢ buj uf u.m (_)Lara), a three ye yuu uld huy, d l)oy nt UITLL )‘ ars of age U AG BT | o

B e s
— B N TP e o o W T AT
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212 Which a'-m.‘.‘.mi-i‘_ —
B 1 didn’t mnese Englyen " COTYeCt expresion? T e 1516
. | GMin’t maser lk‘""ﬂh ::W!‘ FomR to abrosd but | shonld have done it in time
B 105"t master Englig, pop | "V £ abroad bt | should do it in time
B0t matey Englich beg,. 8 $rosd but | should have done it in time.
g0 abroad Wit farrew 5y, -1..”’;::?4}{01'78 abroad but | should have done it timely,
| PreposTion T H 1 timely wey ad n:' .'"‘"""“ e adverh o memw vy wer a7 ownw
1. CHoone The correct semtome. L ey W sherh Sor e vn, |
B The wafMics are UNManage .hi » (79 & povw wmpn Do vre® m e (S )
_-._Tl‘.c_f"'mc‘ are mang c:hr s lhh' I'he traffic i« unmanageable in Dhaka
(AR rATic ¥ wncountabye peeioy . @ The rafic are uncontrollable m Dhaka
214 Which of the follo.“;. *-""f.!;c;_l el p?"""’“ " & singular verbgwr e,
B My mm'P" objection is thay | ar:1 :::;"'. [ e o - »)
b_) My principle objection i that | am lm:d. il
© My principal objection is that | tireq T ——
n M};P"“Cifﬂ__objgﬂion that I am tir.

<+

And ¢
—

— ' Ans:a

% = complex sentence ¥ ¥B subject 4w 757 finie verb form A ]
_principal (ad).)- &1, 341, ¥ principle (noun)- gmey, grdfs, 54 Gy

215. Which of the following sentences is CORREC'.I"' ‘ A T

3;:"3 R;_:c‘b: a long way. b) Onc‘dozcn of bananas are nt‘.’m;ent' 2

€ ol the boys are absent. ‘ : ; .

216. Pick up the INCORRECT =N d) I, Habib and you arc guilty"m :mm.:lf:‘

a) Each of the sisters are clever, b) Justice, as well as mercy, dllouai ’

€) The mob has dispersed. d) Neither be nor | was there. Ansa

217. Which of the following is correct? [T TP (e ey, rpe® ey

@) I was stuck in traffic fortwo hours B I was stuck up in traffic for two bours
€) | had stuck up in traffic for two hours @) I had stuck in traffic for two hours  Ans.a

218, Choose the right sentence. [¥f¥ wra cifere worg) Rl o R
8) He came lately today. b) He came in late today.
¢) He came by late today. d) He came late today Ans:d
219. The correct sentence is [vrf TTe ToTe W jar| {IFIC Bask (TAO» 18]

8) The girl laughed and entered the room. b) The gir! entered the room lasghng.

¢) The girl laughed entering the room. d) The girl laughingly enwed the room.Ans:d
220. Choose the correct verb form. [*58 ¢ Boy Wewaea S wrel el TR )00

#) The thickness of the books vary. B) The thickness of the book vary.

3 The thickness of the books varying. ﬁ The thickness of the books vanes. Ans:id
221. Choose the correct sentence, (e @ v e Tomel et (e oe]

#) | see you in a fortnight’s time. b) | saw you n a tormtghh ume

g) | have seen you in a fortnight’s time. @) | shall see you in 3 fortmight’s time. Ans:d

222. Find out the correct sentence: ; l y : . zier.
#) Do you know where does he live? He has gone for a walk.

B They will arrive by the by. He sold all his fumitures. Ans.b

dll' B — - @

MASTER

CamScanner


https://v3.camscanner.com/user/download

